O

SHOWA

SHOWA
LUBRICATION SYSTEMS

DIGEST VERSION

SHOWA CORPORATION
http://www.net-showa.co.j



SHOWA CORPORATION

SHOWA HEAD OFFICE

9-21, 2-CHOME AZUSAWA, ITABASHI-KU,
TOKYO, JAPAN  174-0051

TEL: (03) 5392-6211

FAX: (03) 5392-6220

SALES DEPARTMENT

9-21, 2-CHOME AZUSAWA, ITABASHI-KU,
TOKYO, JAPAN  174-0051

TEL: (03) 3967-3255

FAX: (03) 3967-0044

URL: WWW.NET-SHOWA.CO.JP

Staying true to our motto "To apply genuine
technical skills to produce a product that can
be trusted" and utilizing various skills and
knowledge which have been accumulated
over the many years, SHOWA continues to
supply high quality centralized lubrication
systems, proven useful in various industries.

Infused within our products are the attention
to fine detail and quality, which we continue to
deliver, thus enabling SHOWA to be one of
the leading manufacturers of lubrication
equipment in Japan.

To respond to the needs for diversification
and meet customer requirements,
we at SHOWA not only performs
further research and develop-
ment to produce effective new
products, but we also diligently
strive to strengthen the local
and International network to
help provide a superior
service for our
customers.

SHOWA's
extensive sales
and service network includes;

-/ the head office located in Tokyo,

13 branch offices within the nation,

~  factory-warehouse and International
distributors located around the world.

Secondary Tokyo Office



Index

LUBRICATION SYSTEM CHART
SYSTEM OUTLINE
QOil Lubrication Systems

Grease Lubrication Systems

HANDLING & PRECAUTION
1. RESISTANCE - MANUAL PUMP UNITS
LA Hand Pump
LD Hand Pump
EA Hand Pump
HLA7 Hand Pump
2. RESISTANCE - MOTORIZED PUMPS
MLA Continuous Motor Pump
MLC, MLD Continuous Motor Pump

3. RESISTANCE - MOTORIZED PUMP UNITS

LITER UNIT Continuous Lubrication Unit

MV Mini LITER UNIT
SSMA Mini Semi-Cycle Pump
SMD Semi-Cycle Pump
YMAS Cycle Pump
MY6 Accumulator Pump

4. RESISTANCE - DISTRIBUTORS
VA, VB Dester Valves
FLOW PROPER UNITS
CONTINUQUS UNITS

5. VOLUMETRIC - MANUAL PUMP UNITS
LAW Hand Pump

6. VOLUMETRIC - MOTORIZED PUMPS
MLA*W, MLB*W Pressure Displacing Motor Pump

7. VOLUMETRIC - MOTORIZED PUMP UNITS

LCB3 Lubrication Unit

LCB3 (TMS) Lubrication Unit

LCB4 Lubrication Unit

LCBS Lubrication Unit
8. VOLUMETRIC - DISTRIBUTORS

DPB Dester Plunger

DSA, DSB Dester Block

DPB20L Dester Plunger (Visual Indicator)

DS Dester Block (Compact + Indicator)
9. ACCESSORIES - OIL SYSTEM

oLV Float Switch

SW'N Terminal Box

LFO1 Line Filter

LFY Line Filter

PGL, SPS, ACB Pressure Gauges & Switches

2
4
4
5
6
8
8
8
9
9

[ D 1 N 5 T N TR % S 6 T o RO N SO o T S T o R G T N T N T N S e e o S S T s
= = s I = = LA . A == == [ — T (= B = T = = T - - B S R« - B = T & N & I 7= R - R T R = B 1

29

($)SHOWA

10. TANKS / RESERVOIRS 30
D Bottom Mount Welded Steel Tanks 30
TY Side Mount Welded Steel Tanks 30

11. PROGRESSIVE - MANUAL GREASE PUMPS 3
SHG Manual Sign Pump Kl
GPH Manual Grease Pump 32

12. PROGRESSIVE - MOTORIZED GREASE PUMPS 33
MHG4 Motorized Sign Pump 33
MHG7 Motorized Sign Pump 33
GPM Motorized Grease Pump 34

13. PROGRESSIVE - DISTRIBUTORS 35
SG2 Dester G 35
SG6 Dester G 36

14. SINGLE-LINE - MANUAL GREASE PUMPS 37
GPHW Manual Grease Pump 37

15. SINGLE-LINE - MOTORIZED GREASE PUMPS 38
GPMW Motorized Grease Pump 38

16. SINGLE-LINE - DISTRIBUTORS 39
DG, GD Piston Distributor & Junction Block 39

17. ACCESSORIES - GREASE SYSTEM 40
UT30PS, DGE, Monitoring Accessories 40
PGL250, DL20 Monitoring Accessories 40

18. SHOWA "IN GREASE" - GREASE CARTRIDGES H
SLC-1 Lithium Complex Grease 4
su Multi-Purpose Lithium Grease 41

19. FITTINGS - LOW TO MID PRESSURES 42
Piping Components Connectors & Fittings 42
DA, DB Dester Uni 44
Pipes & Tubes Metal & Polymer Tubes 45
FHS, FHC, FSC Flexible Hose 45

20. FITTINGS - MID TO HIGH PRESSURES 46
Piping Components Compression Type Cannectors 46
GHAO02, GHO2 Hose & Reusable Connectors 47

REFERENCE 48
Pump Unit Circuit Diagrams 48

CONTACT DETAILS 49

" 5?.




SHO WA Lubrication System Chart

Lubrication System Selection

Depending upon the required lubrication system, a compatible pump and distribution equipment must be selected to enable correct

operation to take place.

Mixing pumps and distribution equipment from different types of systems may cause faults.

By referring to the chart below, an appropriate lubrication system and components for a specific requirement can be identified.
| Further information regarding the different types of lubrication systems available can be found on pages 4 & 5.

SHOWA
LUBRICATION
SYSTEM

System
Type

> ottt

Distribution Discharge Lubricant
Control Type Rate / Type Type
e =
(Single-Line) ntermittent

Proportional

—J| >{ (P?oegarsel;ESe) —f

Continuous

Adjustable

($)SHOWA



)

Resistance
olL GREASE Continuous  Intermittent  Volumetric Resistance Single-Line  Progressive  Resistance  Manual Motorized
Lubrication  Lubrication Discharge Discharge System System System System System Operation Operation
Lubrication Lubrication Lubricant is Lubricant is Measured Applies varying Measured Measured Applies Hand operated Motor driven
systems for systems for supplied to the  supplied to the amountof OIL  resistanceto  amount of amount of resistance to  pumps for OIL  pumps for OIL
ol GREASE target points target points distributed at  distribute OIL ~ GREASE GREASE distribute or GREASE or GREASE
applications.  applications.  continuously.  intermittently.  target points.  proportionally.  distributed distributed GREASE lubrication lubrication
simultaneously progressively.  proportionally.  systems. systems.
( Distribution Equipment | Description_ Applicable Pump Units ]
DPB Measures exact amounts of oil to be distributed, which is not affected MLA*W, MLB*W Models
ty prewurer ey LCA3 Model ]
The Dester plunger will discharge its pre-measured volume of oil by
utilizing the direct pressure produced by the pump. LCA4 Model
Pumps will need to possess a pressure displacement mechanism, Motorized LCB3 Mm'iel
enabling the Dester plungers to replenish itself with ol. - -
LCB3 TMS Model
Measures exact amounts of oil to be distributed, which is not affected - — — .
:> The Dester Block will discharge its pre-measured volume of oil by LCB5 Model wfe
utilizing the pressure produced by the internal spring. : ; S
The DSBs are suited for lower pressure systems, as discharge is | Pneumatic HP‘W‘ Model .f‘?"“‘“‘ Shoue) Di:prle:;t:l?;nt
induced by a spring and not by the pump's discharge pressure. Manual LAW* Model
The DG piston distributors, will discharge a pre-measured amount of
grease, utilizing the pump's discharge pressure. Motorized GPMW30 Model
Pumps will require a pressure displacement mechanism to enable the ) )
DG to replenish itself with grease.
To be used in conjunction with GD distribution blocks to simplify Manual GPHWO1 Model
installation.
L.
f SG2 Measures exact amounts of lubricant to be distributed, which is not MHG4 Model }
affected by pressure or viscosity. )
P The Dester G will discharge measured volumes of grease through each
:> -m ”‘Q{ port, one after the olher in sequence (progressively). IO MHGT Model
bt o Blocks with difiering discharge volumes selectabe. oto —— ~ | Continuous
Avisual indicator pin or a limit switch option is available. GPM101 Model Type
+
SG6 Measures exact amounts of lubricant to be distributed, which is not GPM102 Model Progressive
affected by pressure or viscosity. o discharge
The Dester G will discharge measured volumes of grease through each SHG Model
port, one after the other in sequence (progressively). Manul ] |
PSG attachments can be attached to combine ports. nual
AVisual indicator pin or a limit switch option is avalable. GPH Model
The Flow Proper Unit (Meter Unit) will apply flow resistance according | YMAS Model | Intermittent
to the number displayed on the unit. Motorized —s&ml — Accumulative
Ol from the pump unit can be distributed proportionally by applying orize L“"smms e ——— | Pressure Type
various levels of resistance at lubrication points. BT —
; P ] MV Model Continuous
The unit is best suited with accumulative pressure type pumps (no LD Model Intermittent
pressure displacement mechanisms). Manual EA & HLA7 Models Accumulative
Continuous Units The Continuous Unit (Control Unit) will apply flow resistance according MLA, MLC, MLD Models
to the number displayed on the unit. Motorized MHG4, MHG7 Models
By applying various levels of resistance at junctions or lubrication Continuous
—_—> @'5%& points, the lubricant discharged by the pump can be distributed GPM?101, GPM102 Models Type
- proportionally. — SHG Model
Unlike the PSS range, these units possess no internal check valves. B GPH Model
VA VB (Check Valve) | Dester Valve distribution junctions possess adjustable flow-rate valves -;:‘:Ss-—% ;m%r"n“itll:ﬁm
on each port, allowing simple flow adjustments to be performed. Motorized | SSNA Mo: I P ccumulative
The valves on each distribution port enables simple adjustments to the L. m
lubricant's flow-rate by changing the amount of resistance applied to the MLA, MLC, MLD Models T
lubricant. Mo replacement or additional parts are required for basic ; : Intermittent
uuli adjustments and modifications in lubricalion output, making system LA Model Diect Preasiie
- .L.t design, installation and modifications simple to perform. Manual HLA7 Model Intermittent
|| VA & VB units are suited for both the intermittent and continuous type LD Model Accumulative
| 1k resistance systems and can be used in Total Loss or Circulating EA Model Pressure Type
* lubrication systems. MHG4, MHG7 Models '
Motorized 2
GPM101, GPM102 Models Continuous
(Please enquire for usage conditions when utiiizing the Dester Valves SHG Mnael Type
| in conjunction with SMD, SSMA or grease pumps) Manual GPH Model




System Outline

SHOWA oil lubrication systems comprises of 2 main sub-lubrication systems, offering different methods of distribution and

discharge.

The volumetric type lubrication system focuses on
applying measured volumes of oil 1o the multiple
lubrication points on equipment or machinery.

The distribution equipment (Dester Plunger or
Dester Block) measures a specified amount of oil
and then proceeds to forward the lubricant
intermittently to the lubrication points.

This accurate and intermitteni distribution via the
distribution equipment is induced by the volumetric
type pump.

Motorized lubrication pumps for this system, will
run and halt in intermittent cycles through the use of
a controlling mechanism (Eg. IC Timers).

Distribution equipment for the volumefric type
system can be separaled into 2 main categories.

Direct pump pressure or spring pressure induced
discharge methods. The first utilizes the pump's
discharge pressure to eject the oil from within the
pistons. The later method utilizes the pump's
pressure to replenish the pistons with oil and relies
on the internal spring to displace the oil.

As the displacement of pressure is required for the
volumetric type distrioution equipment to operate,
all volumetric type pumps possess pressure
displacement mechanisms.

By applying various levels of resistance al the
resistance type distribution junctions or lubrication
points, ail from the pump unit can be divided and
discharged proportionally.

Through the selection of the pump unit and
distribution equipment, oil can be discharged either
intermittently or continuously at lubrication points.
Unlike the volumetric system, which allows specific
volumes of oil to be discharged at lubrication points,
the resistance type system is unable to measure
exact volumes for discharge past the pump unit.

However, the resistance type system enables
continuous lubrication, which has an added benefit
of a cooling effect, making this system ideal where
heat displacement is also a requirement along with
general lubrication.

Another differing factor is, the volumetric system
will only discharge the set capacity of oil from the
pistons and will require the pump unit to half ana
displace the internal pressure before any more oil
can be discharged at the fubrication points.

In comparison, oil will continuously be discharged
from the lubrication points in the resistance system,
as long as the pump unit continues to operate.

As such, more emphasis is placed on the output
capacity and control of the pump unit, in regards to
discharge volumes at certain lubrication points.

o |

dodee

¥ahimarric |

i

FY R

Hasinlance |

Refer below to identify the lubrication system required for certain lubricating applications.

OIL LUBRICATION SYSTEMS

No.| Code Deseription No.| Code Description No.| Code Description
1 | -PUMP- | Velumetric Type 8 | PG12 Sealing PlugfGaskel | 15 | PA4 Bushing
2 | PD6 Nipple 9 | DPB23 Dester Plunger 16 | PB4 Sleeve
3 | PA6 Bushing 10 | JD2-6 Junction 17 | PD4 Nipple
4 | PBB Sleeve 11 | DSA2 Dester Block 18 | PH4 Elbow
5 | PKD6 T Conneclor 12 | FSC805 Flexible Hose 19 | PGOD4 Sealing Plug
6 | DPB110 | Dester Plunger 13 | DSBS Dester Block - - -
7 | PD612 Main Pipe Nipple 14 | DPB32 Dester Plunger - - ]

-

No.| Code Description No.| Code Description No.| Code Description

1 | -PUMP- | Resislance Type 7| PTT Flow Proper Unit 13 | PAN4 Proper Nut (Bushing)
2 | pas Bushing 8 | JD3 Junction 14 | PHD4 Elbow

3 | Pea Sleeve 9 | FHC420 | Flexible Hose 15 | PST Flow Proper Unit
4 | PD4 Nipple 10 | DBED Dester Unit 16 | PIt Elbow

5 | LFoIN Line Filter 11 | PG004 | Sealing Plug 17 | DASD Dester Unit

6 | JHD3 Junction Head 12 | PSS Fiow Praper Unit E . -

(5)SHOWA




GREASE LUBRICATION SYSTEMS

The SHOWA grease system comprises of various sub-lubrication systems, offering different methods of distribution and discharge.
The 3 main grease lubrication sub-systems, allows a broad range of lubrication requirements to be catered for.

FragrasHiug

PROGRESSIVE SYSTEM

Pressurized grease is forwarded to individual
lubrication points in sequence by utilizing
progressive type (volumetric) distribution blocks.

As the pistons in the Dester G block (SG) move in
sequence fo distribute grease, the Dester G block
will not be able to function if a single port is sealed.

This characteristic of the system helps simplify
monitoring and lubrication management.

By confirming operation at the Dester G blocks, it is
possible to identify lubrication problems from a
centralized point.

If a port(s) is not required, attachments (PSG) can
be used to combine ports.

Additional Dester G blocks can be attached to
upper level (parent) blocks, broadening the
lubrication system to meet varying requirements.

Csmeu v svsren [

Grease is forwarded to individual lubrication points

simultaneously by triggering volumetric distribution
equipment with intermittent pressure fluctuations
and depressions.

This action can be performed by a pump
possessing a pressure displacement mechanism.

Volumetric distribution blocks with differing
discharge volumes can be utilized and incorporated
into a single lubrication system.

This flexibility with discharge volumes simplifies
system layout and planning, enabling the single line
system to be ideally suited for a wide variety of
lubrication systems and situations.

Monitoring and general lubrication management
can be simpiified and performed by installing
pressure switches and distribution blocks with
indicators at required locations.

Cusisrancs soren J

EREEE
lesisinnce

By applying different amounts of resistance at the
resistance type disfribution junctions or lubrication
points, the grease from the pump can be divided
and discharged proportionally.

Unlike the progressive or single-line systems,
resistance type systems are unable to measure
specific volumes for discharge past the pump unit.

Ideal for smaller scale lubrication requirements
(Under 10 lubrication points with distribution piping
not exceeding 5m in length).

Lubrication systems can be installed and operated
at minimal expense due to the simple nature of the
components and system.

Fixed and adjustable resistance applying
distributors are available to simplify installation.

_TI
y

—ﬂ*._'i_,_:,_iff' w
g ‘|
(No.| Code Deseription
1 | MHG Pump
2 | 5G608A | Distibution Block #* Section Pipe Fitlings & Parts ® Section Pipe Fittings & Parts
3 | SGEOEB Block With Indicator ~ Pipe Size Fittings Utilized ( Pipe Size Fittings Utilized
4 | 5GB12A Distribution Block 28 PD801 « PAS - PB8 =6 PAG - PBB
L5 | PSG104 Attachment wh PD6 - PAG - PB6 =4 PCB04 - PA4 - PBA |
|g| e
gﬁﬁ EQE Al
I
il ,..‘ Uu o Rt
MNo.| Code Description No.| Code Description Mo.| Code Description
1 | GPMW Pump 8 | DG50 Piston Distributor 15 | PG1 Plug
2 | 01050613 | Connector g | PA4 Bushing 16 | DG3 Piston Distributor
3 | 01050610 | Connector 10 | PB4 Slesve 17 | GDB7K Junction Block
4 | PGL250 Pressure Gauge i1 | PD4 Nipple 18 | DG30 Piston Distributor
5 | JHD3S T - Connector 12 | PH4 Elbow 19 | PQ101 Conneclor
6 | 01040600 | T - Conneclor 13 | DGE20 Flow Sensor 20 | GDB5K Junction Block
7 | GDBEK | Junction Block 14 | GDB4K | Junction Block - - -
()
No.| Code Description Mo.| Code Descripfion: No.| Code Description
1 | SHG Pump 5 | PB4 Slesve 9 | PD4 Nipple
2 | DB Junction Block 6 | PD110 Adapter 10 | PA4 Bushing
3.| CS5 Canlinuous Unit 7 | PAB Bushing 11 | PH4 Elbow
4 | PAN4 Nut 8 | PB6 Slegve 12 | PGO04 Plug

(s)SHOWA




Handling & Precaution

Correct usage and handling leads to proper and efficient operation. Prevention of problems should be undertaken seriously, as
faults and errors with the lubrication system can lead to a very expensive ordeal.

Prior to use, the pump units and distribution equipment should be checked and maintenance should be performed on a regular
basis, as it will assure effective operation of the lubrication system and target machinery.

NOTES ON USAGE

® Ensure appropriate oils and greases are used with the lubrication unit / system.

e Liquids other than the specified lubricating oils and greases, such as lamp oil, gasoline or water, should NOT be used and distributed through the system.

e Use new oil and greases which are pure and free of contaminants. In circulating oil lubrication systems, replace oils periodically to promote effective
lubrication fo take place.

® Refrain from using a combination of various oils, as it may lead to the formation of sludge, preventing proper operation of the machinery and equipment.

® Refrain from overfilling the oil or grease reservoirs by exceeding the "Full” line.

® Pumps and distribution apparatus are composed of various rubbers and nonferrous metals {Zinc, aluminum and brass) components. Do not use oils or
grease that may erode or weaken the structure of the pump and distribution equipment.

NOTES ON PLACEMENT & INSTALLATION

» |nstall the pumps in a location where it would be free from falling debris (shavings, etc) and cutting fluids.

® [nstall pumps where vibration is minimal.

® Place pumps where maintenance, inspection and refilling can be performed easily, as these tasks should be performed regularly.
» |nstall manual pumps in a position easily accessible to the operator, promoting safe and efficient operation.

NOTES ON TEST RUNS & INITIAL OPERATION

* Ensure the motor's electrical cover is in place before connecting power to the unif to help prevent the possibility of electrocution.

® Confirm the motor's rotating direction.  Running the motor in the reverse (of the specified direction) will result in substandard performance.
® Expel all air from within the pump and distribution channels, then proceed to check the lubrication points to ensure correct operation.

e Ensure there is no oil or grease leaking from the distribution system, as this may allow air o enter the system.

NOTES ON MAINTENANCE & INSPECTION

e To allow effective operation of the lubrication system and to prevent major problems from occurring, routine maintenance and inspections of the equipment
should be performed.

® Ensure the power has been disconnected from the unit prior to maintenance and inspection.  In situations where power is required during tests and
inspection, ensure the circuit board and IC timer {control board) covers are in place.

PERIODIC INSPECTION POINTS

No. INSPECTION POINTS INSPECTION DETAILS
1 Supply Filler {OIL SYSTEMS) Check for tear and any foreign particles which may be attached or present in the filler.  Ensure the filter is correctly in place.
2 Lubricant Check for degradation, oxidization and impurity levels.
3 Resenvoir / Tank Check for foreign parficles, sludge and leakages within the reservoir.
4 Connections / Connectors Inspect piping connections to ensure there is no leakage and a firm connection is made.
5 Pipes & Tubes (Distribution Channels) Check that the pipes or tubes have not split or deformed in any way.
6 Lubwicant Usage Ensure the consumption of il and grease is appropriale and thal neither too litlle nor too much has been used.
7 Pump Unit Turn an the pump's power and check the pressure gauge to confirm correct pressure levels are achieved,
8 Distribution Equipment {Distributors) Confirm the distribution of oil and grease through each lubrication point.
9 Inspection & Monitoring Equipment Inspection and monitoring equipment should be tested to ensure they operate correctly. Recalibrate or replace when necessary.

* Ensure periodic cleansing and replacement of oil and filters are performed.
* To clean the tanks and filters, please use clean petroleum. Do not use gasoline ( petrol, thinners or other fluids which are volatile in nature.

REVIEWING THE LUBRICATION SYSTEM

* As various types of machinery and environments in which they operate exists, one ideal lubrication system may not be appropriate for all. As such, it is good
practice to monitor and log various internal & external effecting factors in conjunction with the lubrication system and target machine's performance, as this will
assist reevaluation and calibration processes at a later stage.

e Consultation with the machine operator, lubrication engineer and maintenance staff, will allow valuable information to be uncovered. Periodic meetings and
reviews will assist in guiding the path to the perfect lubrication system.

B ($)SHOWA



-

POSSIBLE CAUSES

SOLUTIONS

Oil is not discharging

Motor's rotating direction is reversed.

Stop the pump immediately and correct the rotating direction, as running the pump in
reverse will damage the unit and may catch fire.

Low oil levels.
Supply line, strainer or filter is blocked.

Fill the tank with the same type of oil currently in use, as mixing oils may lead to cavitation.
Clean or replace the strainer.  In a circulating oil system, flush the whole distribution system
and replace with clean new oil. Replace filters if required.

Air is being drawn into the supply line or supply channel.
Air is seeping through the il seal or O-ring.

Check the oil level in the tank and fill if required.

Check the washers and bushings at connection points and replace if required.  Ensure a
light connection is achieved.  Check the oil seals and O-rings and replace if necessary.
For a temporary quick fix in emergency cases, apply grease to the seals, but keep in mind
that replacement is a must.

Viscosity of the ol is too high.
Viscosity of the oil is too low.

Adjust the temperature of the oil or change the type of oil used.
When changing oils, ensure the whole system is cleaned before the new oil is utilized with
the system.

Internal component of the pump has wom.

Fix or replace the wom parts or replace the pump unit.

Pressure will not rise

Relief valve is not operating properly.
1) Inappropriale pressure settings.
2) Contaminants present or parts have worn.

Check the pressure gauge and adjust the pressure to the comect levels. Incorrect pressure
settings may lead to chattering.
If the valve is worn or has been damaged, replace the valve.  Clean the valve if unclean.

Suction filter is blocked.

Clean or replace the suction filter.

The pump is emitting irregular noises
1) Oilin the reservoir has become white and

Water or high levels of moisture has entered the tank. 200
~ 300p.p.m. can tum the oil cloudy and at 1000p.p.m. the
lubricant will start to oxidize.

Eliminate possible entry points for moisture / water and install the unit away from areas
where water and high levels of humidity are present.  Limit temperalure differences to
prevent condensation from occurring.

Filter or strainer is blocked.
Qif's temperalure is too low or the viscosily is too high.

Inspect the components and clean or replace if necessary.  Check the oil's purity.
Inspect the oil and change the type of oil used if necessary.

3) Pump's component has broken.

Pump has been misused or used in a way that does not
conform to the operational usage guidelines.

Confirm the pump matches the lubrication requirements and the type of system.  Review
and replace the unit with an appropriate pump.  If the pump has been misused and a
component has broken, replace with a new part and review operation.

Substantial heat produced.
1) Pump's lemperature is excessively hot (Ol

Excessive friction is being produced and chafing and wear
is occurring within the pump.

Recalibrate moving components or replace parts if required.

2) Lubrication points on target machinery are
excessively hot or bumnt.

Lubricant is not being discharged or an inadequate amount
is being applied.

Check all components to the lubrication paint for blockages and malfunctions.  If the oil is
contaminated, flush the lubrication system and replace with clean new oil.
Adjust the oil's discharge volume to an appropriate level (Increase).

3) Excessive heal from bearings / spindles.

Viscosity level is inappropriate. Highly viscous oils applied
to points of high speed motion can produce considerable
heat from liquid friction.

Try increasing the temperature of the oil to decrease it's viscosity.
If the oil is too viscous, replace with a different ol of lower viscosity.

MANUAL PUMPS - PRECAUTIONARY NOTES & TROUBLESHOOTING

* Manual pumps will expel a specified amount of oil with a simple action,
regardless of being either a lever type or a handle type pump.
There is no need to stop midway or to exert excessive force when using the

By releasing the pump lever, it will retum to the original position.
There is no need to push the lever or handle back with excessive force.

* |f a noise can be heard during operation directly after replenishing the unit
with oil, it is highly possible that air has entered into the pump's system.

pump.

Allow the oil to settle so that it is free from bubbles before pulling the lever
or handle repetitively until the noise can be heard no more.

* Regardless of the pump type (Complete unit or a separated pump and
reservoir type), make sure the intake port (opening located within the
reservoir) faces downwards.

* When installing a pump which will utilize oil from an oil tank already in use
{on the target machine or installed for other lubrication systems), ensure to
use a filter or a strainer to prevent foreign matter and contaminants from
entering the pump and the lubrication system.

—

SYMPTOM

POSSIBLE CAUSES

SOLUTIONS )

Qil is not discharging

Low oil Level

Fill the tank with oil up to the "FULL" line.
Ensure the same type of ofl currently in use is added.

Air has been drawn into the pump

Remove the main distribution pipe and continue to operate the pump until air is expelled and
oil is discharged.

Incorrect operation of the pump

Do not pull the handle or lever too quickly or apply excessive force when operaling.
Ensure a complete motion is achieved.

Pump is emitting irregular / abnormal
noises

Air has been drawn into the pump

Check to see if there is sufficient oil within the reservoir and replenish if required.
Remove the main distribution pipe and continue to operate the pump untl air is expelled and
oil is discharged.

The handle or lever returns to its | The filter is blocked Remove the filter and clean or replace if necessary.
original position extremely slow or | Is the pump operating properly? Check to see if the pump itself is the cause of the problem by attaching a pressure gauge to
slower than usual the main distribution pipe and checking the discharge pressure and volumes.
Piping has been squashed Inspect piping and replace if necessary.
Leaking oil from Joints and |Connections are loose and have not been lightened | Inspect the connector components for damage.
connectors adequately Tighten connection properly if loose.

Connections have been over-tightened and the pipe ends
(Nylon, etc) have been squashed

Remove the pipe sleeve (PB), trim the squashed ends and reconnect with a new sleeve.

Oil is leaking from the lubrication
| points

Excessive pressure from the pump

Check the pump's discharge pressure and ensure correct pressure is being produced.
If pressures are to specification, check other lubrication points for possible problems.




2 E

Maaunl

L]

ads

leafxrancs S IAIermien &

Resistance - Manual Pump Units

e Resistance type manually operated pump
e 3 types available, dispensing either 3cm3/stroke, 6cm3 /stroke or 8cm?3 /stroke
e Direct pressure type lever pump

The LA model is a simple to use hand pump. Distribution of oil is induced by the force created upon
pulling the lever.

3 types of LA hand pumps are available, dispensing either 3cm? /stroke, 6em3 /stroke or 8cm3 /stroke,
and are ideal for use in conjunction with Dester Valves (Resistance type distribution junctions).

2 types of LABD models are available. The LABDR and the LABDL have distribution ports on

LA3

opposing sides, broadening installation capabilities.
LA6-4 (6)
LASD Discharge Port
MBx 1.0 or M10x 1.0
wia§
MODEL CODE | "
LA 3 7|
Discharge Volume
3:3em3/st + il Level Gauge
6 : Gomd st i
8D : Bem3 st
Base Code Mount Holed -= 7
{Countersink = 10.8
@ 0.5 depth)
SPECIFICATIONS
% 2 types of LAG are avallable. (LAG-4 for 224 piping and LAG-6 for MObELcope |  DischageVol | Max.Dischaigs | DischagaPort: | Tank Gapachy Effeciive:
& 6 piping) {cm? /st) Pressure (MPa) Size L Tank Capacity (L)
* 2 types of LASD are avaitable. (LASDR with the discharge port LA3 3 15 M8x 1.0 0.1 0.47
on the right and LABDL with the discharge port on the left) LAB-4 (6) 6 15 LAG-4 MBx10 035 0.25
* The LA3 possesses a plastic tank, while the LAG and LASD are LA6-6 M10x 1.0
equipped with die-cast aluminum tanks \LABDR (L) 8 15 Rc'fe 06 04

LD Hand Pump

MODEL CODE

LD 6
Discharge Volume
6 Sanr??iest

‘ 8. Bom3 st "
| Base Code

LD6
Discharge Port x1.0

Oil Level -

4-z7
{Countersink =10.8
@ 0.5 depth)

e Spring pressure induced oil discharging hand pump

e 2 iypes available, dispensing either 6cm3 /stroke or 8cm3 /stroke

The LD manual pump dispenses oil after the handle has been pulled and released, utilizing the force
of the compressed spring inside.
Being a low pressure type hand pump, the LD model is ideal for use in conjunction with SHOWA's
Flow Proper Units (PSS, PST, etc).

SPECIFICATIONS
( Discharge Vol. Max. Discharge Discharge Port Tank Capacity Efteclive
MPDELGTNE {em? /s) Pressure (MPa) Size {L} Tank Capacity (L)
LD6 6 0.35 M8 x1.0 0.35 022
LD8 8 0.35 M8x1.0 0.6 0.37
LDg

($)SHOWA

Discharge Port M8 x 1.0

rsink 0.5)

4 -7 (Countes




e Simply pulling and releasing the handle once, oil is discharged from the pump

EA3
Discharge Port

r-“ ‘.-' ) I_.
SEAR IS v 8
EA3 ‘
= _|
MODEL CODE —
EA8 UR Supply Cap/Lid Discharge Port M8 x 1.0
| ‘ Rotn kA Supply Filter Installed \ _~"(PA4 & PB4 Supplied)
R : On Fight of Machine s ; B
?Jiscg:;ge Port Position - [ | IO i M,@‘jﬁ?ﬁ“ Bl
:On Top |} Ve
D:OnBotiom isu Fg":" ;
Discharge Volume ' A e |
3 3omi st £ © i L |
8 : 8emd fst ! s i .
Base Code  — 3
Drain Rc'is / £ I
_2:77 (Countersink 11 @ 3depth) "+ || I
* The “L" represented in the Model Code section above (under ‘ 126 - JI 40 ' J }. 7
Pump Installation), indicates the pump will be mounted on the 178 Stroke | | 785
LEFT in relation 1o the targel machine (Viewing from front),
* The ability to select the discharge port's position {top or botlom
of the pump) and the atlachment face on either side, broadens iPECIF|CATIONS
the installation capabilties of the EA8 pump unit. Discharge Vol. Max. Discharge Discharge Port Tank Capacity Effective
MODEL CODE : ;
* EA3 are only available with discharge ports facing upwards. {cms /st) Pressure (MPa} Size (L) Tank Capacity (L)
* The EA3 and EA8 models are equipped wilh a plastic and a EA3 3 03 Rp's 0.16 0.14
die-cast aluminum tank, respectively, _EAB U(D) R(L) 8 0.35 M8 % 1.0 (24 tube) 08 05
P e Push lever type manual pump

e Adjustable dispensing volume, ranging from 1cm3/stroke to 7cm3 /stroke

Distribution of il is induced by simply moving the lever up and down. The HLA7 model has an
adjustable dispensing volume of 1cm3 /stroke to 7em3 /stroke, which can be set by adjusting the
adjustment nut and stopper positioned next to the lever.

The pump is supplied with a 1L plastic tank and is available with levers facing either direction to suit
installation and operational requirements.

HLA7R 3
HLAT7L Supply Cap / Lid = |
Discharge Port \_ SBCI ‘
50 Mik 3-265 : s s Lever
MODEL CODE — B L .
HLA 7R - N et ._ o % SN e ACUSIENt 210006 |
s T (=]
| Puinp Installation ﬂl?. = Adjustment Nut ‘
L Left Mounted e ¢ : —
R : Right Mounted - r- 5
Discharge Volume I =
‘ Til~Tomdfsl |
Base Code ! | = Ll
& % |
J | 8 | |
217) |
DISCHARGE VOLUME | Lo o ‘
To adjust the discharge volume, L |
loosen the adjustment nut and  — — - “ Suction Filter 3-3272
aller the protruding height of the ~ Discharge Vol, | "H Protrusion
adjustment slopper to set lhe {em? /st) {mrm)
desired volume of discharge. 1 25 SPECIFICATIONS
: 2 23 Discharge Vol. Max. Discharge Discharge Port Tank Capacity Effective
Adjust. Sto 2 .
5 S, 3 21 Mope: vRE (cms3 fst) Pressure (MPa) Size (L) Tank Capacity (L)
Adjust, Nut > 4 19 [ HLA7L (R) 1-7 0.3 M8 x 1.0 1 08
a :%1__ B 5 147 % The HLAT pump's initial discharge voiume s sel lo 7om?d /st.
=="1 6 15 * The "R’ represented in the "Pump Installation” table indicates the pump is lo be mounted on the RIGHT in relation 1o the
— 7 13 machine. (viewing from the front) Therefore, the pump’s mounting face is positioned on it's lefi when the lever is held straight.

($)SHOWA




MLA cont

| e Gear pump for continuous oil distribution systems
e High levels of performance, safety and durability
e Various types and specifications available to meet a wide variety of needs

uous Motor Pump

The MLA pumps are designed for continuous / circulating oil distribution in resistance type systems, which have the added benefit of a cooling effect.
The compact automatic gear pump, featuring a relief valve, achieves high levels of performance, durability and safety.
10 flow-rate models (0.06L/min ~ 10L/min) are available, enablfing the MLA series to cover a very broad flow-rate spectrum.

MLl 0t Roiatng Direcion
CodePlate 75/ )
* The motor can be rolated and affixed to the flange in 4
directions {every 90°) o suil installation requirements.
* Contact SHOWA for further details regarding suction
ql|' =] pipes and filter details. {Not included)
" * Dimensions will differ for pumps ulilizing 60W x 2P
motors of non-standard vollages.
) JJ * Minimum opening diameter for installation: <68 +
‘ £
T g« DIMENSIONS
— s =
% MODELCODE | Outlet Size A B C
2 MLA0OS Ros 74 % 425
_ Aot MLAO1S Re'ls 78 114 52
¥ Intake Re Vs MLAO3 Rc s 81 17 85
(MLAQOS = Ric 8] Relief Valve MLAOS Rc s 81 17 65
MLAD5-5 Rc'is 8 122 70
|
|
MLA10 - 100 i
1— l;-, %i — =y Fan Cover DIMENSIONS
3 Bl |/ Terminal BoX | \iopel GODE | Oullet Port Size | Inake Port Size
‘ g g‘ - MLA10 Re 'l Re i
- i MLA15 Rc /s Re 'l
: ' MLA30 Re%s Re 'z
@ 2-oK/@di| 1| MLASO R Rc'z
}rn H o) MLAT0 Rc¥s Re 12
w] —— MLA100 Rc¥s Rc 2
w —d‘]‘ Min. Installation ; - -
of L Egﬁ Opening = G zA| 8 | ¢ | D|E| F |oG|gd| | |si|lak]| L
et i
| S 127 | 319 [ 28 | 101 [ 2 | 58 60 | 120 [ 130 [ 10 [ 103
Mo B bl 127 | 322 | 218 | 104 | 22 | 58 | Min. | 160 | 120 | 130 | 10 | 103
= _Intake 140 | 378 | 242 | 136 | 22 [ 1129 | 10 [ 160 | 125 | 130 [ 10 | 135
140 | 383 | 242 | 141 | 22 | 1178 160 | 125 [ 130 | 10 | 135
168 | 428 | 173 | 155 | 25 | 1315 Min. | 200 | 131 | 165 | 12 | 135
Oullet Pert 168 [ 435 [ 273 [ 162 | 26 [ 139 | 130 [ 200 | 131 | 185 | 12 | 135 |
MODEL CODE SPECIFICATION
MLA 03 T —— ( | Discharge | Discharge Volume | Theorefical | Viscosily Motor Current (A
‘ Aty el MODEL CODE | Pressure {Umin) Discharge | Range [Oulputx Pole| 200V | 200V | 220V
| Jia4Gakimin 20, {3 0Unin (MPa) | S0Hz | 60Hz | (cm®/) | (mm2/s) | (W)x(P) [ (50Hz) | (60Hz) | (60Hz)
= Loy 5 et MLA006 005 | 006 0038 | 20~2000 | 25x4 | 026 | 027 | 027
10_: 1.0Umin 100 ; 10Limin MLAD15 03~1 [ 018 0.19 0.12 20~2000 | 25x4 | 026 | 027 | 027
BeseCods MLAO3 0.28 032 02 20~1000 | 25x4 | 026 | 027 | 027
MLADS 03~15] 05 06 0.2 20-1000 | 60x2 04 | 04 | 04
* The 25W motors can operale using 200, 220, 230Volts (50Hz - MLAQS- 03~05 05 0.57 0.36 20 ~ 500 25x4 026 | 027 | 027
0.264) or 200, 220, 230, 240Volts {80Hz - 0.274). MLA10 0.6 116 0662 | 20~1000 { o0 o | s | 112 | 147
* 3 phase 200 50Hz, 200V 60Hz and 220V 60Hz are the MLA15 143 172 0984 | 20-1000 '
standard. Different power specifications also available, MLA30 < 3.18 383 219 20 - 1000
* (Class E insulation MLAS0 s da 5.28 6.37 3.64 20 ~1000 ok ke 193 1495
* After wiring, ensure the motor rotates in the corect direction. MLA70 7.29 8.80 5.03 20 ~ 1000 7504 16 13 a2
* Current {A) values conform to NIDEC {motors above 200W) MLA100 10.51 1269 7.25 20 ~ 1000 '

($)SHOWA




Mulorisen

MLC, MLD Continuous Motor Pump

e Simplified version of the MLA type gear pump for continuous oil distribution

e Light weight and compact design, with high discharge rates of varying volumes 7
MODEL CODE MODEL CODE
MLC 05 1 MLD 05 2
Motor Ol.nput Motor Output
I 2:T0W i 41 200W
< D'““"S‘-“Mm ‘& G Suoow
} l 05 : 0.5L/min ( Discharge Volume
L 10:iUmin 05:05Umin  © 50:SUmin
MLC Base Code - 10 : 1Limin i 70:7Umin
| 30 : 3Lmin t 1000 10Umin
] ‘Base Code
MLC (25W Motor) MLD (1.5MPa 70W Motor) MLD (70W, 80W Motor) MLD {200W, 400W Motor)

&
2 Pl 3z §a
R 1= . B LS oy WIINE
' SO T T e By f ; AL
YA b o T T -t peegt-1 - | (Min. Installation
¥ s o o hS =Pl -y B 7 ' i
Intake / ‘ 811 | |\ Oulet NERIE i N s Operien)
52 52 .
_&J =85 + (Min. Inslallaion [E=ropess|=aui| &8s e TE]
M%g;ﬁﬂgm e s kten Opening) MLD304 | 218 [ 20141234 1004
MLD505 | 2435 | 2188 | 1408 | 1178
MLD704 221 | 211 | 133 | 110
CODE A B C CODE A B Tl CODE | A | B | C | D | [MLD705 [2435|2235] 1455 | 1225
MLCOS1 81 91 (119) MLD052 79 89 (124) MLD302 132 | 1934 | 1154 | 924 ] MLD1004 | 221 | 2185|1405 | 1175
(MLC101 84 9 | (122) ] [mLD102 82 %2 | (127) (MLD503 | 148 [ 1983|1203 973 ]  [MLD1005 | 2435 231 | 153 | 130
SF Suction Filters SPECIFICATION
" . . 3 Discharge Discharge Vol. {L/min) | Outlet Motor Current (A)
[ | L e Suclion won :
S H e b "‘e,l;l &1 "K MODEL GODE Pressure (MPa) | 50Hz | 60Hz | Size (Rc) | Output x Pole [200V 50Hz [ 200V 80Hz 220V 80Hz
e ﬁﬁmfmﬁ@e 0 MLCO51 05 051 | 058 U | osWxap | 026 | o021 | oa
al [+ . 3
i MLC101 05 093 1.06 Ya 25W x 4P 0.26 0.27 0.27
SFS02 SFM02  Contact SHOWA for further details. Bbos 75 051 050 7 oW AP 068 e e
MLD102 1.5 0.93 1.06 a TOW x 4P 0.65 0.65 0.65
MLD302 0.5 31 35 Ys 7OW x 4P 0.65 0.65 0.85
* The 25W molors can operale using 200, 220, 230Valts {50Hz - MLD304 1.5 3z 38 g 200W x 4P 134 112 117
0.26A) or 200, 220, 230, 240Volts (60Hz - 0.27A). MLD503 0.5 5.1 58 g 80W x 4P 0.65 0.6 0.6
* 3 phase 200V 50Hz, 200V 60Hz and 220V 60Hz are the MLD505 135 53 B4 s 400W x 4P 22 193 195
standard.  Different power speciiications also available. MLD704 0.5 7.3 88 g 200W x 4P 1.24 1.12 1147
* Class E insulation "F.DTU'S 1.5 73 88 g 400W x 4P 22 1.93 1.95
* Alter wiring, ensure the motor rolates in the correct direction. MLD1004 05 105 127 :'{3 200WxaP | 134 112 AL
* Current (A) values conform to NIDEC (molors above 200W) MLD1005 i5 10.5 127 s | d00Wx4P | 22 193 195 |




i l[f

TR

Nosistonoe @ Continsous M Malarizsd

LITER UNIT tmia, mic, mipd)  Continuous Lubrication Un

e Continuous distribution pump unit for the resistance type system
e Lubrication unit with a combination of various attachments
e Customizable design constructed to suit various lubrication requirements

Utilizing a high performance L series pump, an option to select the type of tank, float switch and
pressure gauge have been provided to meet various lubrication requirements. These units, used for
centralized lubrication, also possess an added benefit of a cooling effect by continuously supplying
lubricants to the point of application.

As standard, a suction filter has been attached to the L series pump to help prevent foreign objects
and impurities from entering the system. A terminal box and a pressure gauge are also standard

fittings.
Further options such as an outgoing check valve, line filter, magnet filter and micro-separators, can be
Liter Unit attached to the unit.
MODEL CODE
MLAO15 TY6P 103N PL35
i Sy . ' TERMINAL BOX &
- L" PUMP TYPE . . TANK TYPE |-o FLOAT SWITCH TYPE ,J |-o PRESSURE GAUGE TYPE oJ
[ MODELTYPE | Discharge Volume MODELTYPE| Capacity YR MODELTYPE Nt ) MODEL TYPE Scale Max. |
006 | 006L/min | Botiom | 3| 3 Liter 01 [ swiot sl PL| PGLGauge |15 1.5MPa
MLA 015 | 0.15L/min | T8 jount |41 4Liter 102 | swio2 il 35|  35MPa
iy 03 | 0.4L/min ) |5 | Sliter | Press 108 | Swios iz PF| PGFGauge [50) s50MPa
e 05 | 05L/min | Bottom | 6 | 6Liter | Molded 104 | SWid
10 iL/min | 2 Mount | 12| 12Liter | Steel
“ Motor 15 1.5L/ min 15| 15Lter | Tanks
*Pu 30 3L/ min 7y Sde |20 20Liter
Socton Filer |30_|_5t/min Mount [30] 30Lter | Ty#P
70 7L/ min 40 | 40Liter | TD%P
100 | 10L/min 1z Botom ey 60 Liter
| Mounl a5 80 Liter
Ref.  Page 10 Ref.  Page 30 Rel.  Page 27 Ref.  Page 28
COMPONENTS
| e MR
e 3 phase induction motor
@ TERMINAL BOX 5> =
Contains a terminal board where the ¢ —— @ PRESSURE GAUGE

motor and other fitlings, such as float
switches, can be wired to.

Displays the pump's discharging pressure
T ~—— ®OUTGOING CHECK VALVE

Prevents back flow of discharged oil.  Smooth and
stable operation with minimal affect on discharge.

® FLOAT SWITCH
The float switch monitors the ail level SO REIUR PORT
within the tank. By converling the oil
level's status into an elecirical signai, the ®OIL SUPPLY
motor's operation can be confrolled or an
indicator lamp can be Iit, once the ol ® PUMP

level has depleted to a certain level. Utilizing gears composed of special alloys, the pumps

have been created for maximum efficiency and
performance.

Focusing on durability, the bearings, gears and shafts
have been produced from reinforced steels, allowing
the pump to be utilized in hard working conditions.

® SUCTION FILTER _— e ® RELIEF VALVE
Suction filters are to be atlached to the pump's oil intake Limiting excessive discharge pressures, the relief valve opens 1o return excess oil back into
port to prevent forgugn objects and impurities from the tank reservoir once oil pressures within the distribution pipes have reached a certain level,
entering the pump unit and the piping system. Smooth discharge of excess oil {back info the tank) is achieved with minimum affect on

discharging pressures, helping to prevent chattering from occurring.

(3)SHOWA




Resistanea B Canttiuous Moenitey

LITER UNIT  MLAO3 TY12 103N LITER UNIT  MLA30 TD30 103N PL35

| Relurn Port
s & 5 Discharge Port
Rc%e
Vo) 3
S ndiy N
Discharge Port Re /s
L 370 ]
L Pump Relief Valve Terminal Box
MLA30 / FRV50 SWI03N
Gauge PGL3S
Terminal Box L Pump Supply Port
SW103N MLAO3
N Supply Port o g
Tank : Tank m P | Floal Switch
L O e -— = = & 030 ™ I i L~
S & B ' ' //5 Micro Separator
FIt Switch ;{: i / L
l__ \\:é'_g‘: == -@; &g /
' Drain Rc'ls /' \ | /Drain Re¥s 1|
| 3% BIRTETY 4705200 J
410 515 | \4-214

e Delivers small amounts of oil continuously

e 2 discharge volumes available, dispensing either 1.7cm3/cy or 3.5cm3 /cy

e Can be connected to the target machine's timer system (control board) for extra
operational control.

The MV motorized pump units are designed to continuously lubricate within a resistance type system.
Unit can be supplied with a 2 liter aluminum or plastic tank.
Optional attachments are also available, including a needle valve and a float switch.

MV10204F (2L Aluminum Tank Model)

Needle Val Wiring Pert
MV10103F °(op§i°:}“e 1RG0
2-27%105 " ‘3:_/ Supply Ca
(Ext. Hole) . SgCi
; ]
wy
= j ‘g
MODEL CODE g | w8
MV 10101F = I
Power é
| ‘ A 1Phase 100 /115V E
F : tPhase 200 / 220V <l @N |
| Optional Attachments &
O} 5 Haade Vo {N. Valve Re'f) =| ¢ /DrainRells \Float Switck Level Gauge
+ Floal Swilch e {Option)
02 : Needle Valve e
03 : Floal Swilch
04 None
\ O 2 Plsic Tark SPECIFICATIONS
AU o - Discharge Vol. (cma/min) Molor Rofation | Max. Discharge
Di Vel | EL = i ol R Tank Capacity
I?T?mlminum MEle O0E 50Hz 60Hz (rpm) Pressure (MPa)
3250 Tl MV 17 20 5 5 A J
Base Code MV3 35 4.2 10 - {1.5L effective)

* A neadie valve and 2 float switch can be attached to the unit, slightly altering the specifications.
* Flow-rate can be adjusted on models fitted with the needle valve option.

($)SHOWA




m

Regisinnce

- I8
Resistance - Motorized Pump Units por] A
SSMA Mini Semi-ﬂvcle Pump

e 2discharge volume types available, dispensing 2cm3/cy or 3cm3 /cy (fixed)
e 6 cycle time types are available with cycle times of 5, 10, 15, 30, 60 or 120 mins
e Compact unit with a 1L tank

The SSMA model is a cyclic pump based upon the SMD model, possessing the same motor and
mechanisms. However, the SSMA is far more compact with a 1L plastic tank, allowing the unit to be
installed in areas where space is limited.

2 fixed discharge volume types are available, dispensing either a set volume of 2cm3 or 3em2.

SSMA330F

MODEL CODE =S
SSMA 3 5 F '

|| ] s

Power
A 1Phase 100/ 115V
F : 1Phase 200/ 220V

Cycle Time F Intemmenee '

uy

—

=1

{—4-2 |
i

. ; — -y i u 1
5:5mn : 30:30min Discharge Pont g V7t y L8 =1L Plastic
1S fones £ 120, T3bein G 125 |r i
‘ v D ‘Supply Cap/Lid / \ Wiing Port -
3 3cm?icycle 222 @ Base | ]!
Base Code - Tank F|t=,mc~\.ralI L |
Height 125+ +t—
MOTOR SPECIFICATION SPECIFICATIONS
Voltage (V) 100 100 ~ 115 200 | 200 [ 220 MODEL CODE Cycle Time Discharg_e Vol. Max. Discharge Tank Capacity Effective
Frequency (Hz) | 50 60 50 60 {minutes) {em?3 feycle) Pressure (MPa) (L) Tank Capacity (L)
Rotation (rpm) 172,1,2,4,5 10 SSMA2 5, 10, 15, 30, 2 03 1 0.8
Current {mA) Under 50 Under 25 | SSMA3 60or 120 3 03 ] 0.8
(10rpm : Under 60) | (10rpm : Under S0} * Cycle times and discharge volumes are fixed and cannol be adjusted.
Unput (W) Under 4 {10rpm : Under 5) % An oillevel detecting Float Switch can be attached 1o the unit.

SMD Semi-Cycle Pump

e Anew model cyclic pump with a quick attaching / detaching tank
e 2discharge volume types available, dispensing 1 ~ 3cm3/cy or 3 ~ 6cm?3 /ey
e 6§ cycle time types are available with cycle times of 5, 10, 15, 30, 60 or 120 mins

The SMD model is a resistance type cyclic pump possessing a quick attaching / detaching tank,
terminal board and a supply strainer as standard options.

Discharge volumes can be adjusted in 0.5¢cm3 increments to suit lubrication requirements.

Due to the flexibility and its ease of use, the SMD pumps are highly popular in many industries.

($)SHOWA

SMD353F
Inslanl_Eiul‘ton -r—\/t_;‘o_ver_
. _.___\i| . Wiring Port
MODEL CODE P 8| zomxo I |
SMD 3 15 3 A Lr (Batoe) /A #
| | | S 100/ 115V &
5 ase i -
' F : 1Phase 200 / 220V 9—'-5:—:?2-'9:’&
Optional Allachments Bx1.0 £ §
0: None i 21 Cover -
‘ 1:Float Swich 1 3 F. Swich + Cover Siiding La c/ &
Cycle Time /Intermittence
:5min 2 30 30min
‘ 10 10min 60 : 60min
15:15min | 120 120min {
Discharge Volume Tank Removal ;
' L_ T ey Height 122 + o swn
~ BaseCode [
MOTOR SPECIFICATION SPECIFICATIONS
(Voltage 100 | 100~ 11 i i ci i b
! ag MH o 00~115 | 200 | 200 | 220 MODEL CODE Cycle Time stdiafggvnl, Max. Discharge Tank Capacity Effective
requ'ancy{ z) 80 50 &0 {minutes) {cm3 /cycle) _ Pressure (MPa) {L) Tank Capacity (L)
Rotation (rpm) 112,1,2,4,5,10 SMD3 50,1530, | 1-3 (Adjustable) 03 2 15
Current {mA) Under 50 Under 25 (SMDs 60.0r 120 3~6 (Adjustable) 03 2 15
: (10mm : Under 60) !IW'Dm'-U"def 50) * The discharge volume can be adjusted in 0.50m3 increments. Inital discharge volume setlings are sel fo maimum output levels.
UInput (W} Under 4 (10rpm : Under 5) * A Float Switch and an Inslant Button Cover are avallable as options.




YMAS Cycie Pump

> e An intermittent / cyclic pump unit for resistance type systems
’ e 2 discharge volume types available, dispensing 1 ~ 3cm3/cy or 3 ~ 6cm?3 /ey
e 7 cycle time types are available with cycle times of 1, 5, 10, 15, 30, 60 or 120 mins

Resistance type motorized pump unit, available in various cycle times with adjustable output volumes.
2 discharge volume types available, dispensing an adjustable discharge amount of either 1cm3 ~ J
3em? or 3em? ~ 6em? of oil. - The adjustable discharge volume further improves the pump's efficiency.

YMAS360 Instant Bulton  Motor Terminal 8oard / Cover
R

Port Rc'fs 4
MODEL CODE . [
YMAS 6 15T e ' LN wai
Tank Type ' g o L - 2 g fon
i (OB —
: ; 1 &
Cycle Time / Intermittence i i Lt i Plaie/ |
1:imin i 30 :30min ! (Side Mount) i
5:5min ' 60:60min iele -
10:10min 120 120min :
15 15min !
Dischrge Volure / t ' “ \ﬁ bk, | %‘—19 |
: 1em?® - 3emi3 fgycle - - -
} . 6 :3em?- scm?fae Mount Piate 4-2657 142 J ~.Floal Switcn 5WIlm
Base Code {Bottom Mount) L_ '[O
e —
MOTOR SPECIFICATION SPECIFICATIONS
Voltage (V) 200, 220, 230 200, 220, 230, 240 MODELCODE | CYcleTime Discharge Vol. Max. Discharge Tank Capacity Effective
Frequency (Hz) 50 60 (minutes) {omb fcycle) Pressure (MPa) 5} Tank Capacity (L)
Current (A) 0.15 0.14 YMAS3 15,1015, 1~3 (Adjustable) 0.5 2 15
Rotation (rpm) 1400 1700 | YMASE 30,600r 120 3~ 6 (Adjustable) 0.45 2 15
| Output (W) 10 10 * Discharge volumes can be adjusled. Inilial discharge volume setiings are 2cm? for YMASS & Scms for YMASS.
* YMAS units with different power specifications are available. * Apart from slandard 2L tanks, a 4L, 5L, 6L and a 121 1ank can be fified to the unit. A Float Switch can also be installed.

MYG Accumulator Pump

e Accumulator pump dispensing an adjustable volume of oil up to 6cm? per cycle
e Possesses an IC timer (control board) for intermittent lubrication (adjustable)
e 3 types of tanks and the inclusion of a float switch is selectable

Utilizing an IC timer, the MY6 can be set to discharge oil from a range of selectable interval times.
Possessing an "adjustment nut", the discharge volume per cycle can be set between 1 ~ 6cmd.
The maximum discharge pressure for any discharge volume setting is 0.5MPa.

The MY6 also possesses an “Instant Button®, enabling immediate discharge of oil when required.

— 3
MY& MY6012 (2L Plastic Tank Model) ! - =
Cover Removal | R é"
MODEL CODE Height 55+ 2
MYezii1cC s
| | | | | Power & @
‘ C: 1Phase 100V 50/60Hz s =
B : iPhase 200V 50/ E0Hz | | 2-29 = f i
‘ ‘ | Floal Switch Oplion ; - 5 _ﬁ_
i Mn o
l |7 Flos Sich sialed J—[ =1
"~ Control g
‘ | | 1: Y11 Timer Conrol S of N
Tank Type - al Sl
0:2L Plastic Tank  (TP2B2) 3 = @
‘ 1: 2L Aluminum Tank (TC2D1) ol B =
2:4LPlastic Tank _ (TP48) 3 iz
Discharge Volume |
| 6 : 1om? - 6eme oycle
Base Code e o
Tank Remmral Float Switch
Hesghl 122 + 1— —_ ——
POWER SPECIFICATION SPECIFICATION
Power Code c B ] Discharge | Discharge | Intermittence Times Oullet | Tank | Effective | Temp. [ Viscosity
Phagse Motor 1 1 MODEL CODE | Pressure | Volume Selectable (mins) Pot | Type& |TankCap.| Range | Range
Voltage (V) 100 200 (MPa} | (cmP/cy) | x18etting | x10Setting | Size | Capacity | (L) (C) | (mmé/s)
Frequency (Hz) 50 60 50 60 MY&0 05 .- 2,4,6,8 | 20,40,60, |2-Rcs | 2L Plasl. 13
Consump. (A) 16 13 09 07 MY61 e st 10,12, 14, 180,100,120, | (Oneon | 2LAmi | 13 10~ +40 | 50 ~ 800
| Output & Poles 17W x 2P ] | MY62 16,18 |140, 160, 180 |Each Side)| 4LPlast. | 2.9




— - - A
L
esistance - Distributors

mn

[T
i ||
fResistance Qi Bistrikator

6§

_3'.;“'1 U _

.,\_-r Lt

b vad Anh g L
Ak
MODEL CODE

VA 4 4
Piping & Connection Type
| 4174 (Inlet PD4, Qullel F—*c-q
gézmaom,{r?uﬂ gtmpcfti Outlel)
: Cll 3 i
BOS : Body Only (No Canneclors)

Number of Qutlet Ports
VA Series VB Senies
4:4 Pors 2:2Ports
6:6 Pors 44 Porls
10 : 10 Ports. 6:6 Ports
16 : 16 Ports 88 Pors
Base Code | Port Positions
| VA:Dual Sided | VB : Single Sided

* An equal amount ol PA4(6) plugs and PB4(6) sleeves, in relalion
lo the number of oullel ports are supplied. (NLA. for "BO" models)

* Dester Valves with a PD6 on the main supply port and PD4s on
the individual dislribution poris are also available.

* Dester Valves with a PC check valve on the main supply port and
PD nipples on the distribution ports are also available.
PD6 can be atlached to the inlet on & "BO" Dester Valve.

DIMENSIONS
'MODEL CODE | Outlets A B c
VA4-4(6) 4 30.5 35 53
VAG-4(6) [ 48 80 825
VA10-4(6) 10 76 88 110.5
VA16-4(6) 16 18 130 152.5
VA4-BO 4 305 365 47
VA6-BO 6 48 60 765
VA10-BO 10 76 88 104.5
VA16-B0 16 118 130 146.5
MODEL CODE | Outlets A B c
VB2-4(6) 2 4 46 885
VB4-4(6) 4 62 74 96.5
VB6-4(6) 8 90 102 1245
VBB-4(6) 8 118 130 1525
' VB2-BO 2 34 46 625
VB4-BO 4 62 74 90,5
VB6-BO 6 90 102 1185
| VB§-BO 8 118 130 146.5
FLOW-RATE ADJUSTMENT

Lelt

. Flow Adjusiment
Valve

* Maximum llow can be achieved by aligning the valve to the
middle indicator mark. Turning the valve o the left or right will
reduce the flow of oil.

* Turning the valve past the outer indicators will not stop the oil flow
completely. To stop flow, use a sealing plug (PGS, G004, elc)

VA, VB Dester Valve

e Resistance type distribution junctions with flow adjustable valves
e Each port can be adjusted to produce varying flow rates
e VA possess outlets on both sides, VB possess outlets on a single side

Dester Valves are flow adjustable resistance type distribution junctions, compatible with intermittent /
cycle or continuous oil distribution systems. The VA type has outlets on each side of the main
chamber (total of 4 to 16 ports) and the VB type has outlets on one side (total of 2 to 8 ports).

"BO" Body Only versions available.

VA4

(€]

VA4-BO VA#%-BO VB#-BO
PGt
PG1
g g
g; | ,%‘.
; gcnr(lg:
E £
{21} | =
2 i

SPECIFICATIONS

MODEL CODE Nu_n_'ber.o! Diglrihuu‘on Type Operating Pressure Connection Sze _

- OutletPorls | (Outlet Position) (MPa) Inlet Por Outlet Ports

VA4-4(6) 5

VAG-4(6) 5 :

VAT04(6) 0 Dual Sided o
VA16-4(6) 16 - M8 X 1.0 f" Lo
VB2-4(6) 2 R (M10x10) Uy
VBa-4(6) 2 "BO" Type = Rp'/a

Single Sided

VB-4(6) 6 "9
(VB8-4(5) 8

(s)SHOWA




FLOW PROPER UNITS

e Resistance type distribution equipment for intermittent distribution systems

PSS

iy
MBx10Y / /M8x10
{315-24NF) / (316-24NF)

/ HEX10 HEX)

AT

/ / /e x 1.0
{3i16-24NF)

'HEX10 (P/BHEX)

A 'fs \
(NPTVg}

KPB

Ll
bbby

\Ft'r‘s (NPT'/g)

PST

MBHO\

{3g- 24NF

/ H‘Is
INPTs)
*__HED(1 0 (/HEX)

PTT
230
8
b—_—
[ ]
firp
| —
R'/s
(NPTY)  /
| HEX10 (3HEX)

8]
LA

R/

RYe (NPTHs) /

Flow Direction

MODEL CODE
PSS 3

Bass Code / Connection

| PSS M8x10 - MBx 1.0
PST :MEx1.0 - R'fe
PTS :R's - MBx 1.0
PTT :R'% - RYe
KFB :R's - |
|_KPF ./ - Rlis_

Flow Classification Number

0 : Flow Value [U 51 Less

0 :Flow Value | 2 ] 1

1 : Flow Value| 4 |

2 :FlowValve| 8 |  Qil Vol.
| 3 :Flow Value | 16 ] l

4 : Flow Valpe | 32

5 :Flow Value [64]

(NPTs)

e Various flow-rates available.

Flow-rate determined by flow numbers (00 to 5)

e Various types available to cover a variety of connection possibilities

Flow Proper Units are to be installed within a resistant type system utilizing the intermittent / cyclic

distribution method.

attached to Dester Units (Distribution Biock) or individual lubrication points.

Flow Proper Units enable delivery of oil at a required flow rate and can be

6 types of connector combinations are available, each with a selection of 7 oil flow rates. As the
classification number increases a step, the flow rate doubles, allowing flow manipulation.

These units are to be used in conjunction with accumulative pressure type pumps {ref. page 3).
Flow Proper Units are not fo be utilized with volumetric type pumps, grease pumps or LA type hand

pumps.
SPECIFICATIONS
MODEL CODE Conneclion Size Flow | Flow Operating Recommended | Compalible Conneclors |
N OUT | Class | Value |Pressure (MPaj |Viscosity (mm?s)|  IN ouT |
M8x10 | MBx10 PAN4 PAN4
P! 00 05
bl {3/16-24NF) | (Sa-2aNF)L | ] (PANGH) | (PAN4H] |
M8x1.0 Ri/s 0 2 ‘ PAN4
PSTT
Y& lisngoangy| (PTG P feeee- | (PANGH) .
AYs | M8x10 1 4 PAN4
PISTVOCRII | oo [k ansas # _
NPT 5/16-24NF
[nm:e} i - N2 | 8 | o2 20~ 500 ol
ATT e (NPTYsg) | (NPT'/8) '3 "1_5"- ‘ ! !
Alfe: | 2= kescmafpeema=d
Al ety | 4 | 2
R/a i
KPF Type (NPTVR) 5 - S e e

* Flow-rate doubles every increment in the unit's llow classification number irom 0 onwards. (Flow-rate of 00 is a quarter of 0)

* Flow Proper Units are available in inch sizes. Size displayed in ( ), a "H" will be added to the end of the model code.

* The “#" displayed in the "Compatible Conneclors / Parts” column indicates that any piping conneclor that can connect fo Re '/a
and Ap'/e conneclions can be used.

* PSS Flow Proper Units for =

3.2 pipe size are available. (PSS'K)

CONTINUOUS UNITS (Grease System Compatible)

e Resistance type distribution equipment for continuous distribution systems

CST
&8 270 %0
10 10 10 8 ]
[0 10 .10 8
2
Mex10\ / /M8xiQ M3x1o~ / Risg
(bre-2aNF) | (16-28NF)  (/i6-24NF) / “(NPTg)
/ HEX10 ($55HEX) / HEX10 (¥sHEX)
CTT
—l
e, <6l
Flow Direclion
Ru /[ Rl
NPTV | (NPT
/ HEX10 (HEX).
MODEL CODE
CSS 2
Base Code_.' l’T i Flow C Number
|C$S:M‘Bxl.0-MB:('I.0 | 1:FlowValue[12]  Less
CST :M8x10 - R's 2 Flow Value |2.5] A
CTT :R'% - R's 3:FlowValue| 5|  OiVol.
g — 4 Flow Value | 10] V

5:Flow Value [20]  More

e Various flow-rates available.

Flow-rate determined by flow numbers (1 to 5)

Continuous Units can be used for either; the resistant type system utilizing the continuous distribution
method or in grease distribution systems. The Continuous Units allow a controlled delivery of oil /
grease and can be attached to Dester Units (DA / DB disiribution blocks) or individual lubrication points.

3 types of connector combinations are available (CSS, CST and CTT), each with a selection of 5 ol /

grease flow rates.

manipulation to the desired effect.

As the classification number increases a step, the flow rate doubles, enabling flow

Continuous Units are not to be utilized in conjunction with volumelric type pumps (pressure
displacement mechanisms).

SPECIFICATIONS ‘
Connection Size Flow | Flow Operating Recommended | Compatible Connectors
NOLE GO IN ouT Class | Value |Pressure (MPa) |Viscosity (mmé/s) IN ouT
ss MBx1.0 M8 x 1.0 1 12 PAN4 PAN4
CSSTYPe |15/ 5 anF)|Sh-2aNm) [~ 57| g (PANGH) | (PANdH)
| M8x 1.0 Blp frrzcr £ & PAN4
3 5 015~2 20 ~ 500 #
CSTTPe  |(s/i5.04NF)| (NPT) |--°- ? (PANGH) |
Rils CITR S i 3
EH:lyee (NPTHg) | (NPTYg) | 6 2 e

* Flow-rale doubles every increment in the unil's flow classification number.

* Confinuous Units are available in inch sizes. Size displayed in ), a "H" will be added 1o the end of the model code.

* The "#" displayed in the “Compatible Connectors / Parts" column indicates thal any piping connegtor thal can connect to R /s
and Rp'/s connections can be used

% |n situations where Continuous Units are to be used for grease lubrication systems, CSS models should be selected.




Volumetric - Manual Pump Units m
LAW Hand Pump

e Manually operated volumetric type pump
e 2 types available, dispensing either 6cm3 /stroke or 8cm?3 /stroke
e Minimize wasted oil by dispensing fixed and measured quantities

Yulamenie

The LAW hand pump is designed for use in a volumetric type system. As oil can be dispensed by
pulling upon the lever, installation and operation is simple.

2 sizes of LAW volumetric type hand pumps are available, which can dispense either 6cm3 /stroke or
8cm?3 /stroke of oil.

LAWS Supply Cap / Lid

Discharge Port M10 x 1.0

Oil Level Gauge
=

[ o
LAWG — 1z == \ S %
3 _ i £ = D T A L
G I, ~ ﬁff;'w 10| ‘ . 1
o " | = Hf
=i T =]

S
{Countersink c+10.8
@ 0.5 depth)
LAWSER Supply Cap / Lid
® 100
F 82 120
= Al r ==
LAWSD < / %, | : _f“ 2 1L T
185 ]
A = H G ]
Sy | aff ]r g \ g J
= r‘;:?__.j_l I § R -
| e
o i s ] |
= by e —
-7 ’ !
(Countersink -10.8
MODEL CODE @ 0.5 depth)
LAW 8D R
| ' | Discharge Port Direction LAWSDL
*mﬁm?.ﬂﬁ’. (General dimensions refer to LAWEDR)
| || L:Port positioned on lell = ~ ==
S e = e ) =
_ fD:Bemist 5 e 0" ( 'H 3 Al O
Base Code M.F [ TH
—— TN rs 0
* 2 types of LAWSD are available. | N ] A '4 | ‘ 4
{LAWBDR with the discharge port on the right and LAWSDL with e ; gy (e Y @
the discharge port on the lelt) _:“.i\ Discharge Port mﬁ‘ 1| - Sealing Plug L ;
'\ 7 Re's “‘_—T f Ser—
_ = i \"::
L\._.:t._p,.___ e
SPECIFICATIONS
MODEL CODE Discharge Vol. Ma. Discharge Discharge Port Tank Capacity Efeiie. )
: {om3 sl Pressure (MPa) Size O | TankCapacity (1)
LAWE 6 - M10x 10 0.35 0.25
| LAWBDR(L) 8 40 Re Vs 06 04

($)SHOWR




MLA:W, MLB:W Pressure Displacing Motor Pump

e Volumetric type gear pump featuring a pressure displacement mechanism
e Highly efficient and durable. Various types / specifications available
e Utilized in various volumetric type lubrication units

Matieireg

Tr}e "LW" pumps, MLA#W and MLB W models, designed for centralized lubrication system units
utilizing the volumetric type system, are small gear pumps featuring a pressure displacement

mechanism.

MLB&W The body and casing of the MLBs W model have been produced from die-cast aluminum and the
functioning components have been designed to consume less space, allowing a significant reduction
in product weight.

MLA £W MLB&W MLB &W2
75 =80
¥ e . + I =
L 1“ .Ij . I
Motor ' [ ] fl b
| —\ | 12 ]
= 2-Re'ss ; 4-M5x40 : g }
| 5 | g - .
| HCOR ; e
£ VI SRy 1 Depressuiing {rie Depessuiang. /|,
MODEL CODE (= ; Flange i Port MBx10 el
MLAOS WT = [ o 8 F.\l Depressurizing  MLB W2 pump
i Motor Output B . _-v.é-{-;—*w f *& : Flan;e : ulilizes the same
| - :25W x 4Pole = !
| T:BOW:?Pnh ml—_ Port No.1 Re /s pump and flange
| Pressure Displacement components  as
| W:Mechanism Featured -._Relief Valve the MLB#W,
Discharge Volume
015 0.150/min
03 0.3Umin
05 1 0.50Uimin
Base Code
Depressurizin
MLB 03 W 2 &)~ PoriNo2 Rcs
Mator Specilication ’
- 1 25W x 4Pgle
Enclosad Type
2 : 25W x dPole
Exposed Type
3:20W x 4Pole
Exposed T,
Pressure Displacement
W :Mechanism Featured g Intake
Discharge Vol in. Instaliation
015 0.t5Lmin Opening) L
03:03Umin
L Base Code
DIMENSIONS
) (MODELCODE | A B ¢ ] [MODELCODE] A 5]
OPERATION (Internal Mechanism) MLAO15W 59 95 43 MLBO15W 135 237
MLAO3W 62 98 46 | MLBO3W 138 240
T — t; MLAOIWT 59 9% 43
el g M= (MLAOSW 62 % % |
B =1
@ SPECIFICATION
i B} Discharge | Discharge Volume | Theoretical |  Viscosity Motor Current (A A
-‘L— MODEL CODE | Pressure {Limin) Discharge Range  [OQulpulx Pole| 200V | 200V | 220V
(MPa) | 50Hz 80Hz | (em®R) | (mm2s) | (W)x(P) | (50Hz) | {60Hz) | (60Hz)
N * MLAO15W % 016 0.19 0.12 20~2000 | 25x4 026 | 027 | 027
@ (B LAO3 ’ 028 0.33 02 20~1 25x4 026 | 027 | 07
©C@® @60 MLAOSW 000
the outer-side of the steel ball (1), back into the oil supply tank. MLAOSW 05 06 G2 | 20-1000 | 0x2 | 94 | D4 | 04
When oil enters, the steel ball (1) blocks the air expulsion por, MLBO15W 015 0.18 0.2 20~2000 | 25x4 f’-za _0-2? 027
increasing interal pressure causing the main valve @) 1o move MLB015W2 016 0.19 0.12 20~2000 | 25x4 035 | '035
and block off port (). MLBO15W3 20 0.16 0.19 0.12 20~2000 | 20x4 | "0.25 | 025 | -
MLBO3W 0.28 033 0.2 20~1000 | 25x4 | 026 | 027 | 027
Mext, The resistance valve @ opens, allowing oil to pass through | MLBO3W2 028 0.33 02 20 ~ 1000 25 x4 035 | 035 | -

Ihe main chamber and be discharged for distribution.

When the pump stops, the resistance valve (3) closes and the main
valve returns lo it's original position with the help of a spring.
opening pert (B}, The intemal pressure pushes the valve (4) open

* 25W molor’s raling are 200, 220, 230Volts (50Hz - 0.26A) or 200, 220, 230, 240Volts (B0Hz - 0.27A)
* Three phase 200/ 220V is standard, however, models can be made available to meet difierent power specifications.
* The MLBO15W2, MLB015W3 and MLBO3W2 are limited fo single phase 100 / 200V power supplies.
* The"" "in the Specification table above. indicates a current level (A} utilizing a 200V single phase power supply.

* Class E insulation
* Pressure: 1kglicm? = 0.1MPa

and the pressurized oil retuns lo the lank via port (©),

depressurizing the main chamber. * Viscosity: 1651 = 1mm?/S

* Discharge Volume: 1ce/min = cm? imin

(3)SHOWA




e Motorized pump unit for the volumetric type system
e Discharge timer option available (10 settings between 2 to 192 minutes)
e General purpose pump unit

The LCB3 units are fitted with a die-cast aluminum 3.4L tank, cover, and flange.

board) fitted units can be adjusted to operate between 2 to 192 minutes,

with indicator lamps, enabling verification of operational status and errors.
Immediate oil distribution can be initiated manually, by pressing the "Instant Button".

LCB3 Lubrication Unit

IC timer (control

These units are also fitted

LCB311C I — e Instant Button
154 Cover Removal  / 174 ; /__
L Hogighe | [ ~ Warning Lamp
MODEL CODE Wiring Port || ¥ e
LCB311C Gl | l,- = Pressure Gauge
: {0 Power — f—— ANy PGLS35
C : 1Phase AC100V 50 /60Hz - l"@.‘ I a1 W
[ | B:1Phase AC200V 50/60Hz ]
| | Pressure Gauge Opion 8 L@ o i OL RN suplyLid) Cap
% Aons I8 == & P e . — SBC2
1 :Pressure Gauge Fitted Lt o S > R FV‘)'\
Optional Attachments T - i
. 12T Timer, Float § Pressire Swich Outlet Port /1| | .28 -“ e f;\ DTH ’| P
' 2 : Floal & Pressure Switch Ac'ie | ! ' A@bd
3: Float Swiich uh | I | . Csink 11 depth 1
| g":ﬁmmm é \ TN e 5"1'3'
< None =1 il It
l ~ Base Code Sl S s _,-_/:{j@'i*]ﬂ Oil Level Gauge
23 Drain Re'fs/, S |
L. ank TY3D
MOTOR SPECIFICATION SPECIFICATIONS
Voltage & Freq. |100V 50Hz| 100V 60Hz | 200V 50Hz | 200V 60Hz MODEL CODE Pump Intermittence Discharge Vol. | Discharge | Tank Capacity | Effective Tank | Viscosity
Current (A) 1.54 1.24 0.8A 06A Utilized | (YT Timer Option) | (cmd/cycle) | Pressure (L} Capacity (L} | Range
Qutput & Poles 1MW 2P 2,4,6,8,16,24.32, 0L 50Hz 50 ~ 800 l
Operation Max. 5mins with resting lime of operalion x 2 | lLCN ML 48,64,128,192mins | 0.12L 60Hz AN & ¢ mm?/s

* E - type insulation

Y ]

o
.

* Lubricant can be discharged by pressing the "Instant button”. The pump will continue to operate until the button is released.

LCB3 (TMS) Lubrication Unit

e TMS compliant - volumetric type automatic pump unit
e Discharge frequency can be controlled by timer or impulse
e Array of functions and features to suit various lubrication system requirements

The LCB3 TMS model lubrication unit possesses a controller which complies to the TMS standards.
The unit's operation (discharge frequency or intermittence)
intermittence timer or an impulse count timer and can also be controlled from an external source.

Possessing a pressure & float switch, effective lubrication management can be undertaken with ease.

can be controlled by either an

. LCB3 TMS LCB30205B -04 L Instant Bution
Cover Removal _'] g Warning Lamp
Height 47 +
MODEL CODE F=a = g
o i P
LCB3 01 05 C- 04 wing Pon | B e
‘ ‘ ‘ | ‘ Orain Port ize G'h ‘
- :Re'e z Ty
0d:G2 - SupplyLid/C
 Power = = - @é_ o
]| LSy e T T B b
: 2 ; 1® i =
| Outetpor. pessuen |1 B [T [ ortowicage
_ 'I?:nlcv'll;rg?ﬁ‘:acﬁ_c__ Ac' Connection ==y | B0y l"i. BE=F Tark
ve Capaci Ly =i
| 01 : 2L Aluminum Tank b Port Reli l = 2 q-l
02 : 4.4L Steel Tank i —p— —
’ 03:109LSteei Tank L 1w ] (| / Drain G 'z
Base Code = 4-295/ | 320 |
340 ‘
MOTOR SPECIFICATION SPECIFICATIONS
Voltage & Freq. |1 ) i i i ; ; PP : :
co ags.; A Teq DOIV 50Hz| 100V 60Hz| 200V 50Hz 200V 60Hz MODEL CODE Imerrrlttem.e ommw. Discharge | Tank Capacity | Effective Tank | Viscosity Warning
urrent (A) A 138 | 09A 0.7A {Impulse or mins) | (L/minute) | Pressure (L) Capacily (L) | Range |  Triggers
Quiput & Poles 17W x 2P LCB301 2,4,6,816,24, 34 2 Pressure surge,
Operation Max. 5mins with resting time of operation x 2 LCB302 32,48.64,128 0,1: foeL 1.5MPa 55 4.4 o180 pressure loss
* E - type insulalion | LCB303 {Can be modified) s 14.4 109 i low oil leveis

* Specilied intermitlence can be increased by 2x, 3x or dx

* Lubricant can be discharged by pressing the "Instant button”.  The pump will centinue to operale until the button is released.




LCB4 Lubrication Unit

e Motorized pump unit for the volumetric type system
e Combines a MLBO1W2 pump with a 2L tank
e Lubrication unit without an IC timer (control board)

| '@
aQ

| @& o The LCB4 is a compact centralized lubrication unit supplied without an IC timer (control board).
gy E LCB4 available with varying combinations of a pressure switch, pressure gauge or a float switch.
) Requires connection to a timer system 1o enable intermittent operation.
1l
e LCB40T1C
- 210
LCB4 g{] i .’ P InstantButton
Lt Cover Cover Removal 40+ o . !Pressure Gaiigo
MODEL CODE Wiring Port 222 t I 1r‘ ' I 7 /T pesss
LCBA011C Ll , .
Power : Faslening Screw 2-29 | Lo oot :
| ‘ [ C: 1Phase AC100V 50/ 60Hz § For Tank o\ [ —= 16 _Supply Lid
B iPhase AC200V 50/60Hz A r M T s SBC2
Pressure Gauge Option S T - T .’.‘;;/ |
0 : None i red > o = :
[ [ 1:Pressure Gauge Filled 'LET il i ‘_é’|: i Oil Gauge
Optional Attachments . | i
1: Floal & Pressure Swilch _Dis_gha_rr%}:ﬂ ¥ rg' il Tank
| s (onbothsdes) |/ iy P
4 ; None o h
Lo Tk Type Sliding Latcﬂ/ s | T TS
0 : 2L Plastic Tank Lo
1 20 Al Tark. L Tank Removal I 190 ]
a Base Code Height 122 +
MOTOR SPECIFICATION SPECIFICATIONS
Voltage & Freq. | 100V 50Hz| 100V 60Hz | 200V 50Hz| 200V 60Hz| MODEL CODE Pump Discharge Vol. Discharge Tank Capacity | Effective Tank Viscosity |
Current (A) 1.5A 127 0.8A 0.64 Utilized (cm? fcycie) Pressure L) Capacity (L} Range ‘
Quiput & Poles 17W x 2P 0.1L/7 0120 50 ~ 800
| 1.2MP. 1.
Operalion Max. 5mins with resting time of operation x 2 J [LCBQ MR 50Hz / 60Hz WEs 4 & | mmé /s J
* E - lype insulation * Minimum 2 mins resting time required * Lubricant can be discharged by pressing the “Instant buttan”.  The pumg will continue to aperate until the button is refeased.

LCBY Lubrication Unit

e Motorized pump unit for the volumetric type system
e Combines the LCB4 unit with an IC timer, pressure gauge and float switch
t ‘3 ( ™ e A 2L plastic or die-cast aluminum tank and a 4L extended plastic tank are available

S Based upon the LCB4 lubrication unit, the LCB5 are equipped standard with an IC timer (control
board), a pressure switch, a float switch, an Instant discharge button and an option to select a 4L
extended plastic tank and / or a pressure gauge. The intermittence time between discharges can be
adjusted from a range of 2 ~ 180 minutes by simply altering the dip switch settings on the timer.

210

LCB521C (4L Extended Plastic Tank Model) 0 Waring Lamp
LCB5 190
foe == -H‘ Instant Buton
Cover Removal 60+ | ! |
f_' ' 1l v Pressure Gauge
MODEL CODE {‘"’Tgf ot Dichatge For t.9|2 29 | 7 ,‘4 "PGLS35
LCB521C " Terminal Board P | Jﬁ_ P ';( |
Power } e — % Y | o ‘3 o)
| C:ACI00V 50/60Hz s 1t 7'% |9:,' 1 —I'LI' :m’ E " EI fl J!—J Discharge
LR [®L VH| i =1 | 8 w| ’-Rl_"r ..\ i - “. = Port Position
" Pressure Gauge Option ] g Ll - =
0: Nane k| g & & .gi @ ] Tank
| [_1:Pressure Gauge (PGLS35) g | la _ Tank
‘ ?"’;LT;F"’. Tack | | ‘:g| & Plastic 4L
- 2L Plastic Tai S B, =
1 : 2L Aluminum Tank { L . \
[ | 2. 4L Extended Plastc Tank X - |
~ BaseCode \__1”19_”“%:9% L ] =
Alin
e Tank Removal 122+ / Drain Glfe G‘f’ﬂ !
— 1 &0 ="
OPERATION TIME LINE SPECIFICATIONS _ ' _ _
Pump’s Intermitence | Discharge Vol. | Discharge | Tank Capacity | Effective Tank | Viscosity | Warning
Sel Pressure —f v, MODEL CODE {Resttime inmins.) | (L/minute) | Pressure (L8] Capacily (L) | Range Triggers
Pres. Sw. ON (—ef oo ot ool = = Tt
' i LEBN 24681015 1 44 121 50~ 800 :
......... =_ A A (R . LCB51 25,30, 40, 50, 60, 90, SOHz 1 60H2 1.2MPa 2 13 i pressgre 0ss,
' L 158ec LCB52 120,150, 180 | 4 29 | low oil levels

[n1erm|1!ence ; % " i
Pump Coeration —=— Time —— Pump Operabon < * Lubricant can be discharged by pressing the “Instant button” The pump will continue to operate uniil he button is released.




tiry

)
Volumetric - Distributors @ | eeee |-
DPB Dester Plunger

e Piston distributors for the volumetric type system

VO Y i e Distributes pre-measured volume of oil utilizing the pump's direct pressure
| 3 =3
ﬁ 'l Utilizing the pump's pressure, the DPB model Dester Plunger distributes a pre-measured amount of
. 4 DPB15 oil from each port.
- According to the Dester Plunger's body size, model numbers of 0, 10, 20 and 30 are allocated.
Each model / size are available with various number of ports and discharge volumes.
' Ui hi L DPB12 DPB13
' B MBx10 17 MBx10 17
~
1 265 [
»- ¥ E W
- a
i .1.-:' T il M10x 1.0
MODEL CODE
DPB 1 5-6
11" Dischargevoume perport DPB15, 16, 18, 110
FORO :: FOR20TYPE MBx10 17
;.50'.0.0150113151 0; ggﬁs: "'“ﬁg“
<0.03em? §o02:0 st oy
5006t | 04 0.4omYst 2-065 AT MmN K1 [
B 00Bom¥st o 0.6:0.6cmYst N :
i FORIOTYPE | FORIOTYPE 1 ' R
3:003cm¥st - 0.2:0.2cm¥st AN 5
6:008cmst o 0.4:04emds! M10x1.0 x. i B e,
R e
16:0. B0 ! .
£ 151 5cms) ] -
Number of Outlet Ports
1:1Ports it B16Pors
2:2Pots | 8.:8Pors
3:3Ports i 10:10Poris
5:5Porls i
Model Type
0:0Type
1:10T
| 2:20
| L 3:30 Type N

'| Base Code

* According to the model number (body size), the available number
of ports and discharge volumes will differ.

* Having similar specifications as the DPB20, DPF20 Desler
Plungers are available with different mounting hole paositions.

* |lis possible to set different discharge volumes for each individual
port on a Dester Plunger.

* By changing the outlet metering nipples, discharge volumes can
be altered lo suit requirements.  (Must be a volume specified in

M

the model type's discharge volume list above.) DPB25, 26, 28, 210
MBx10 17 18 10HEX
e - =

DIMENSIONS (Mounting HoIes) -
(MODELCODE | Outet Ports B 2-965 [T
DPB11 1 - 40 i
DPB12 2 S 48

DPB13 3 17 65 Mi12x10 LS
DPB15 5 51 99 Tt
DPB16 6 68 118

DPB18 8 102 150

DPB110 10 136 184

MODEL CODE | Outlet Ports A B

DPB21 1 - 40

DPB22 2 - 46

DPB23 3 17 83

DPB25 5 51 a7

DPB26 6 68 114

DPB28 8 102 148

DPB210 10 136 182

MODEL CODE | Outlet Ports A B

DPB31 1 - 45

DPB32 2 - 50

DPB33 3 21 71

DPBO Range 2,35 - -

DPF20 Range | 23,5 - -]

($)SHOWA




) e

00000
Volumeric }-| Distributor

]

OPERATION (Internal Mechanism) DPBO3 =
: 395
DPB 0 Type & 10 Type M8 x 1.0 14 M8 x 1.0 M8 x 1.0
e = =1 //—_ A
T Outlet Port .! ) irul,
45 COE ola .
% .» 5 5 ;
8) Discharge Nipple = ' I
5) Guiding Ping @ i
l _ 265 265
L 4) Spring 57 ]
T 3) Sleeve :
2) Valve Seat DPF22 DPF23 DPF25 :
Supply Port 1) Adustment Vaive 17, M8x10 17 M8x10 17 M8x10
e - - R
([T (11T (TN [0 [T [II]1| (T (TT (I
[T | | | i
HAER BN EN R A BN R E1 ER L
e : e i i
@ The oil pressure from below compresses the outer section of S : i o ?
the vave, allowing oi o pass. The vahve also (check valve) [ Wi ] | [ VOVl - i-*
prevents oil 0 pass back through. N =1 A =t =l :
The valve seat and sleeve are pushed upwards by the oil M\ig %_ 29 \\5\_;59 f
pressure below, forcing the pre-measured and stored oilin the 4 63 97 1
cylinder to be distibuted through the outiet port. i

(®) Once the pump has stopped and the pressure displacement
mecherism acivates to relieve pressure i the man suppy ~ COMPONENTS
pipe, the spring forces the valve seat and sleeve back to their
original positions.

(5) Oil situated below the cylinder, passes through the pinis hole
to fill the storage area n the cylinder, readl to be discharge at
the next cycle.

@ The discharge volume is set by the stroke length " L
between the nipple and sleeve. By changing the discharge

nipple, the discharge volume can be altered.
Sealing Plu
DPB 20 Type & 30 Type Outlat Connection )
MODELCODE |  Supply | Copper i Rubber | . . Sealing ; - Sealing
1 outet o ' Npple | Gasket ! Packng | S0 | Sleeve | p o |Bushing) Seeve | g o
: : . R o PG10C, PGION | 232 | 3.2
RN e : PAS | PB6 | paoos | Pas2 |pes2| PO
: PG10C, PG1ON PGSC, PG004
; . DPB 10Type - B PA6 | PBB | Poa- | e | R
b ©) DichageNope [~ 1 5 TPDbia [ 9110004 | 3505 | PA6_| P86 | PGRCor | | o |PGAC, PGUoK
L L[E B 1) Spring 207vpe 175 | poaiz 311-0394 1 35885 | PAB | PB8 PGI2N or PG104
1 [ =6 | Po612[ 3110394 ; 35885 | PA6 | PBE | PG12Cor PGBC, PGO04
k g 32, Pt (DPB30TYPe [ [poata | atiooed  aaees | pas [ Pas | pain | P | P ) oeatos |
. 2) Sleeve Pin
= 1) Sleeve
Supply Port SPECIFICATIONS
= VODELCODE |  Numberof | Discharge Vol. | - Discharge Operating Connection Size
Outlet Ports (cm¥st) Nipple Code Pressure Inlet Port Qutlet Ports
0015 35460
i : . 0.03 35461 1 VB 10
Utllizing oil pressure from the main supply pipe, the sleeve DPBO 2,35 005 35462 0.9 ~ 3MPa Mi0x 1.0 x1.
companent forces the plunger upwards. The sleeve also acts 0.08 35463
;:“ched( valve upon de-pressurization, prevenling oil from 0.03 36819
ing back.
ppeag x| L2 0% 30 | os-aMPa | Miox10 | M8x10
@Ashp!mgﬂishmedupwmﬁsbymaslaevemmpomL 6,8,10 0.1 3-6821
oil which had been pre-measured and stored above the 0.16 3-6822
plunger is forced out through the outlet port. g 1.2,3.5 0.1 3-1456
oressure displace e 6,8,10 02 ST gg-3wPa | Mi2x10 | MBx10
(@) Once the pump has stopped and the pressure ent (DPF20) 6,8, 10 o S TiES : |
mechanism activates to relieve pressure in the main supply (2,3,5) 06 31459
pipe, the spring forces the plunger back down to its criginal > 02 31443
position.  During this process, the oil situated below the 04 31444
plunger is forced through the plunger hole and passed above | ppgqg 1,2,3 06 31445 | 08~3MPa | M12x10 | M8x10
to be stored and discharged at the next cycle. s TP
(8) The discharge volume is set by the siroke length * L * 15 31447 )

between the nipple and plunger. * Recommended Viscosity: 20 to 500mm2/S




d111

—

: | yrm
Volumetric - Distributors ¢ _
DSA, DSB Dester Block

e Piston distributors for the volumetric type system
e Distributes pre-measured volume of oil utilizing the piston's spring pressure

Utilizing the internal spring's decompressing force, the DSA & DSB model Dester Blocks distributes a
pre-measured amount of oil from each port.

Dester Blocks with outlets on both sides of the supply chamber (DSA) and Dester Blocks with outlet
ports only on one side (DSB) are available 1o accommodate various installation requirements.

Various number of ports, discharge volumes and an optional indicator pin to confirm oil discharge, are
available with these distributors.

DSA2

MODEL CODE

DSA 6 L-04
| ] Discharge Volume Per Port

b 0.1:0.1emYs) DSA4
. ! 0.2:0.2cm¥ist

0.5 : 0.5em?ist

100 10em¥st

Visual Indicatar Pin

- No Indicalor Pin
_L:lndicalorPin

Number of Oullet Ports

2:2Pons

4:4 Pors
[ 6:6 Pors
|

8:8 Ports

Base Code

e = —

MODEL CODE
DSB 5 C L-0.1

| Discharge Volume Per Port
‘ 1 l 0.1 0.1cmfst

Visual Indicator Pin

[ : n
| ' ‘ I
|

Qullet Port Direction

- 180 Degree Angle From Mount
G ; Paraliel With Mounl Swiace
MNumber of Outlet Ports
2:2Ports

44 Pors
616 Porls
88 Parts
.. BaseCode

* ADSB - C model, possesses outlet ports aligned parallel with the
mounting face while standard DSB models have their outlet ports
on a 90 degree angle to the mounting face. Refer Pic. below.

* Itis possible to set diierent discharge volumes for each individual
porton a Dester Piunger.

* By changing Ihe outiet metering nipples, discharge volumes can
be altered to suit requiremenis.

OUTLE
T DIRECTION DSA(B) L Dester Blocks with visual indicator pins to confirm operation

T Qullet Port | Visual Indicator Pins

S |
Wil il e — b % Indicator pins profrude when of i being [ Discharge [Indicator Pin
o i ] stored and wil retum to their origingl Volumes | Dimen. {L)
positions when oi has been discharged, | O.fcm¥st | 1.5mm
* Specifications and general dimensions 0.2cm¥st | 23mm
for the L type Desters are the same as 0.5cmst | 50mm
standard DSA and DSB models. 10m¥st | 95mm

TTETATTITT Mounting Surlace <77 7
DSB Type DSB-C Type




DSB3C '
3 :‘%
17 MBx1.0 63
= [
i i A) Supply Channel LR E f
L l" B) Cylinder Entrance ~
P i f=—
1) Adjustment Valve 75 |3 2
p 80 fi
_'t
— DSB5C
asluea sTeeaals cafaman) A Mox1.0 g.
() il which has been discharged from the lubrication pump unit M10x 1.0 Mox 10 LRI ||U: |
travels through the main supply pipes and enters the supply SRCHC I i
chamber of the Dester Plungers. Within the supply chamber, ~ 3 == »
a small hole s located for each piston to take in ol . ' f:i :
75 | P
(1) The pressurized oil from the pump unit, forces the valve lo m“‘
(B) open back, enabling ol to be passed through fo the piston ' £
cylinder's entrance.
bse7 DSB7C .
] 17 M8x 1.0 :
M10X 1.0 | :Du esusaEa 8
R AR
o : =
Iq
w
68
148

(2) The pressurized oil enters the piston chamber and forces the

piston upwards.
@ During this process, the spring above the piston head is Outlet Port
compressed. M8x1.0 M10x1.0 g Nipple
(C) The piston wil continue to rise and take in ol unf the top of BOiog M.
g 3 : Sealing Plu Distribution Pipe =4
mepustoncumssncontaummmehuuumolmerrmedm JQ_B_W /
nipple. A measured amount of oil has now been stored within Bushing PA4 I——————les,

the piston chamber, ready to be discharged in the next step.

Sleeve PB4
iy - Supply Conneclion 26 Outlet Connection 4 =
MODEL CODE Sealing Sealing
Sleeve Bushi Sleeve
. __ Bushing i ng Plugs
LT DSAT ; PAG PB6 2 PA4 PB4 paGar
Type PGO04
PG10or PGB or
DSB Type PAG PB6 sl PA4 PB4 o |

* Where ever possible, install the Dester Plunger with the outlet ports facing upwards, as this will help remove air during installation.
* Minimize piping structures and equipment in the distribution system which would apply substantial flow resistance.
* Ensure all plugs and connectors are tightly affixed and secured to prevent oil and pressure loss.

Once the pump has stopped discharging oil, the pressure

displacement mechanism within the pump unit activates. 'SPECIFICATIONS _ _ .

This reduction in pressure from within the main supply pipe MODEL CODE Numberof | Discharge Vol. Discharge Operating Conneclion Size

and the Dester Plungers supply chamber, enables the vaives | OutietPorts (cm¥st) Nipple Code Pressure Inlet Port Qutlst Ports

to move back to its original position. g; g:sac:z
(D) The vave's shift in position allows the stored ol 1o be DSAType 2,4,6,8 o e 05~3MPa | MI10x10 M8 x 1.0

discharged oul of the outlet port, utiizing the power of the ' 7 o

compressed spring.  Once the spring has retumed the piston 01 34309

o . i boan :
z:ims i aycle s DSB Type 3,57 zi ::::'1] 05~3MPa | MI0x10 M8x 1.0
. : |(PB CType) %5 e J

" " The discharge volume is set by the stroke length between the

metering nipple and piston head. * Recommended Viscosity: 20 to 500mm2/S




) =

Volumetric - Distributors O Jasees § 0T
DPB20L Dester Plunger (Visual Indicator)

e Dester Plunger with visual indicators to confirm operation
e Discharge volumes of 0.1cm3, 0.2cm3, 0.4cm?3 and 0.6cm3 per stroke are available

The DPB20L is a volumetric type piston distributor, utilizing the pump's direct pressure to distribute a
pre-measured amount of oil from each port.

This model possesses visual indicators to confirm operation. As the pistons are pushed upwards by
the stored oil within the cylinders, indicator pins protrude from atop of the Plunger.

A DPB2#L .  Outet Por
DPB25L 8 (@), MBx 1.0 IndicatorPin 185
HEX 12 17 I'sz
L
MODEL CODE
DPB 2 5 L-6
[ Discharge Volume Per Port
| | ko 2-M2x10
2 0.2emst i
| | 4: 0demst
5 - 0.6em¥st
| Visual Indicator
L: Top Protruding Pin
Number of Qullel Parts
] i
8 g gms SPECIFICATIONS
| % -8 Pors FMODELGODE Number of | Dimension | Operating | Viscosily Connection Size Discharge [ Indical or.P_in1
L _____.._“.._____:UP;WPMS QullstPorts| A | B | Pressure | Range | InletPort | OutletPort | | Volumes | Dimen. (L)
e DPB22L 2 HES 04cm¥st [ 1.9
Base Code DPB23L 3 17 | 63 ="
5 0.2cm?/st 33
iidics 5 SIS ogeawpa| 27 | mizxto | Mexto
DPB26L 6 68 | 114 mm?/S 0.4cm?sl 6.4
DPB28L 8 102 | 148
* Recammended Viscosity: 20 to 500mm2/S DPB210L 10 o) ¥ LG&m%l - s

11 Dester Block (Compact + Indicator]

e Dester Block with visual indicators to confirm operation
e Discharge volumes of 0.03cm3, 0.05¢m3, 0.08cm3 and 0.1cm3 per stroke available

The DS models are a volumetric type piston distributor, utilizing the piston’s internal spring pressure to
distribute a pre-measured amount of oil from each port.

Although the DS are based upon the DSB & DSA Dester Blocks, the DS are far more compact and
are able to distribute smaller quantities of oil at higher levels of precision.

Ds3z
DS5Z
t— B )
B | D
MODEL CODE | Jhs e
DS 5 Z 8
I Discharge Volume Per Port ' ) 343
‘ 3:0.03cm?st 14 Indicator Pin
5 - 0.05cmYst 7 5
8:0.08cm¥st T~
10:0.icmP%s1 , =200}
| J Appiests Fiphg 10 2-Mi0x 1.0 : |
Number of Oulet Poris )
| ! 2 :2 Ports EE@
3 :3Poas ; g
5 :5Pots i i
! 5 50ve Discharge Nipple 246 || 22
L~ BaseCode
SPECIFICATIONS
MODEL CODE Number of | Dimension Operating Appllcab!e Gonnection Size Discharge | Indicator Pin
QOullet Pors | A B | Pressure | Piping (Out)| InletPorl | Quliet Port Volumes | Dimen. (L)
g:;: 2 M| &7 0.03cm3/st 15
3 48 | 61 0.05cm¥st 25
1~ 3MPa = L] M10x10 | MBx10 -
| DS52 5 | %] e . 008om¥st| 40
* Recommended Viscosity: 30 to 500mm2/S Dsgz 8 18 | 131 0.1cm¥st 50

($)SHOWA




Float Switch

e Oil level detection unit i
| = e Level adjustable float switch OLV2B2 7
A "/ o Fixed type polymer base float switch OLV01 and OLV02

)

The OLV type Float Switches enables an electrical ON or OFF signal to be sent according to the fluid
level inside the tank. This function can enable, through a relay; turning off the unit or machinery;

e oLvo1 switch on indicator lamps or set off buzzers to inform of the pump's fluid level situation.
OLV02 Possessing stoppers at both ends, the apparatus can be utilized in deep or shallow fluid levels,

OLV2B2 .

I
Ensure the Float Switches are connecled fo a relay. (Low capacitance) :
|
|

Cord Length 400mm
OLV2B2 OLvor Mi0xt0 UL Standard 0.3m |
OLVD2
MODEL CODE
OLV 01
| Float Switch Type & Action
2B2 : Cord Type
01 : Plastic Low = ON
02 : Plast rcgwrm Low = OFF Oil Level
| Base Code ( )
g! Operlaliing
* Standard cord length is 400mm, ", Position |
however, lengths can be altered upon
request.
* Ensure connection to a relay SPECIFICATIONS )
* Do not perform insulation resistance MODEL | Max. Opening& | Max. Opening& | Max. Opening & |  Contact Point Withstanding Insulaling Appropriate Y
lests using a megohmmeter CODE | Closing Capacity | Closing Current | Closing Voltage | Contact Resistance |  Resistance Resistance Viscosity
* Do not pull upon the cables with OLV2B2 | aca0va AC 0.33A AC 250V AC 1000V Hpaer bl L
excessive force (Max. 2Kg) oLvO1 Under 0.1Q } 100MQ Hrbmalkaisood
DCsowW DC 1.0A CC 200V 1 Minute 2liC VISCOSIY
* Temperature range : -20°C to +80°C oLvo2 (DC 500V Mega) 2000mm?s

SW N Terminal Box |

e Terminal board with Float Switch set. Various wiring options available
e SW103N & SW104N are supplied with a box (casing), protecting the terminal board & wiring

| The product code indicates a specific terminal board and Float Switch combination.
' The SW103N and SW104N are supplied with a box casing fitted with a terminal board to simplify wiring and installation.

\\}I SW103N SW104N

LRl Wiring Port Motor Wiring Port
{Customer Side) P4
e ‘
n SW103N '
5@ '
| §8
i § &
T oB 35— :
1 gt | 1435 | 505
= G4 o
MODEL CODE = é : i o g 29 \.'L‘ﬁ
7] i |
SW 103N & | 58 145
Box Material 2= g v —
I I S — S& =
| Components Lo qi )
! Flgat Swilch
s mgsﬁé'ﬁ';“ i = Molor  OLV01{02)
Box None, o) i
102 Float Swich Sel, N e I, ‘@\_ [®] ]
Box o M Q|0{0|< _'_UH 4+
103 : Flpal Swilch Set, 'O (? o| Q Terrm‘lalaox T
m“ W&&F’ " Molor  Relay LY4
(i TW(T] ——
104 : Floal Switch Set, Powier Rem, Earlh o
Wiing Motor & F. Sw, % An OLV01(02) is filted on the diagram % Gonhact the: molors: ), 'V -and W. 10
| nglﬂ:‘nﬁ.l\ﬁe}dslel above. An OLV2B2 can also be attached. * Standard terminal board is 6P. immls 5, 6 and 7 respectively when
L _BaseCode _ * Compatible tanks with the OLVO1(02} set 5P and 10P terminal boards can also be using OLVO2. . _
are - TY3, Tvd4, TY5, Tve, TY12, TZ5, installed. * LY4 : By connecting the Floai Switch to
TZ6, TZ12, TY4P, TY6P, TD4P, TOGP, the relay, the motor can be shut off when

Trd oil levels are low.




Accessories - 0il System

| e Line filters for resistance and volumetric type lubrication systems

| = e Line filters with a bypass chamber for the volumetric type systems
. —~— = ‘p; e Easy maintenance
N £y - | A small capacity line filter for the resistance system and volumetric system (with a bypass chamber)

are available.

2 flow directional types are available (L to R or R to L in relation to the mounting face), providing an
opportunity to select a model to suit installation requirements.

LFO1
By simply unscrewing the top bofts, maintenance or filter {element) replacement can be performed
with ease.
LFO101
LFO1
uy
| 2-M5 =
| !)_eﬁh ? i
MODEL CODE _..._-Téw___ _c:_ :j
| LF 01 01 N ;‘ lL ,_-,;;f?__f“l
' * Element . - il ik
II - ‘Regular 33615 o ) oy v L 5 o= — =
B:longType 3-4193 IN { : ouT | |
I NN Element 3110105 N 3§
Flow Direction ) Hex Socket Boll ~cer
| - N (Lefty - QUT (Right X oocket Boll
01 :'c?'uar'?fié ou; EEEE{; With Bypass 4-M5x20 MS: 15+
50: - IN {Ri T
 51:OUT(Let - N :ﬁgm; With Bypass (Meaintenance Space)
%c;nn;;lﬂson Port Size LFO101
, 52.3 Hex Sockel Bolt
|; Base Code — _1/2~N!3x18
' Bypass
\ Valve
R ALY
1\ oang
FILTER SPECIFICATION
Filter Filtering | Filter Product MS : 15+
f :
Typo O Element |\ veral | Surtace | Grade | Nomber (it St
Regular SUsS
Element Mesn | X il SPECIFICATIONS
Long Type sus , i Bypass | Applicable | Operating | Withstanding Max Flow Rate
-41
Element e | O | W | SRR MODELCODE | Chamber | Lubrication | Pressure | Pressure (Utmin) - Tomm?ls c::;?;;"
N Element PVE 17e 5110105 : Attached S){fasem {MPa) (MPa) Regular | Long Type | N Element
\ LFO1 N Resistance
* Please use N elements when utilizing hand pumps, YMAS, LF0150 Type System 3 45 4 i5 02) Rt
i SMA and SMD models. LF0101 Atacheg | _VOUmetic ' ' :
1 * In general, clean or replace the filier element every six months, ~ (LF0151 Type System
when utilized under standard conditions. * As the N element is to be utilized with intermittent type "Cycle” pumps, the Max Flow Rate indicated is purely for reference.

e LFY Model, compact line filter

The LFY line filters are designed to be utilized with resistance type cycle pumps, semi-cycle pumps and

hand pumps.
LFY The filter element can be cleaned or replaced without removing the filter from the piping system.
MODEL CODE LFYO01
LFY 01 L Connection Port 22
(Ref. MODEL CODE

e RS [ n
L:longTyps 34433 i |
Connection Port Size B8 | A
01 : Reli *QI:LI 43
: 4 :MBx1.0 -1 I s l
| 6 :Mi0x 1.0 e

'| L BaseCode w
|
. SPECIFICATION HEXIs,

([ ng. Operating Pressure 3MPa {30kglicm? ) |
| Filter Grade 20um (Long Type 40,m) |

(Element Replacement)

(3)SHOWA




Accessories - 0il System
PGL, SPS, ACB Pressure Gauges & Switches

e Apparatus for monitoring and controlling pressure
e Pressure gauge displays pressure in MPa & kgficm2
e Pressure switches to suit various system requirements

PRESSURE GAUGE PRESSURE SWITCH

SPS-8T ACB-MAQ8

Monitoring system pressure is made easy with the gauge displaying 2
pressure formats of MPa and kgf/cm?.

PGF models possess an extra indicator fo identify max. pressures achieved.
GL35 pressure gauges possesses it's connector on the left of the face.

i Displayed Dimensions
'MODEFGOBE Pressure Range AVERLEETIEDE|ISEL LR | & g
PGL15 0 ~ 1.5Mpa {15kgticm?) 10|28 |52 |41 |14 -] -
PGF15 0 ~ 1.5Mpa {15kgticm?} 1028|5214 |14
LEFT MOUNT PGL35 0 ~ 3.5Mpa {35kgflem?} 10 | 28 | 5241 14
TYPE (GL35) PGF35 0 ~ 3.5Mpa [35kghicm?) 10|28 [52]41] 14
Pt ioati PGLS35 0~ 3.5Mpa [35kgiicm?) 8 | 25 |43 [3es5]12] - | -
“’_'L_neeme dial | GL35 0~ 3.5Mpa [35kghicm?) 8 | 25|43 - | - [305] 12

PRESSURE SWITCH SPS-8T _
Possessing a Single Pole Double Throw (SPDT) contact point, the SPS-8T

can indicate 2 status signals (ON or OFF) at a time.  The upper and lower
reacting pressures can be adjusted to suit the system requirements.

=51 )
1 a ; =
| Ell=m ~ Adjustment Screw " B
| :: L POWER RATING

Adjustment Screw " A

2 [ AC250V_5A DCiooV 1A |
[ ACi25v 10A DC24v  5A |
8 I M= sy
h[ e
1 CONTACT POINT ® Terminal 1 (Red)- 2 (Blue)

Increase pressure - OFF
Decrease pressure : ON

® Terminal 1 (Red)- 3 (Black)
Increase pressure : ON
Decrease pressure : OFF

* An" L " shape
mounting bracket
is also available.

Re Yaor¥s _]

PRESSURE SWITCH ACB-MAQ8 o o
The ACB-MAOS8 pressure switch can be utilized in either an AC or DC circuit

environment.
[ MODELCODE ACB-MA08
Closing Pressure 1.0MPa
Opening Pressure 0.65MPa
Rovar AC‘_i 25V 0.02~2A
Rating AG125V 0.02~ 1A
T DC12/24V 0.01 ~ 0.05A
 Lead Wire Length 300mm
* WARNING : The ACB-MAOS pressure swilch can not be used in a DC circuil once it has been
used in an AC environment.

(3)SHOWA




~ Tanks / Reservoirs

e Floor / bottom mounting type welded steel tanks available in various sizes
e 0Oil gauges and drains are fitted to promote and simplify effective maintenance

2 et W <

2
TD12
~ ’ L ‘ _ /_QI Level Gauge
| .'_ - - A r—,— s —
| I 1i%
| TD = e -.E = T QL : ‘,L
| ; EL
i - i o
T i Drain E (Re) f\4-2F
MODEL CODE I r jj ]‘ AxB _
D 12 N L — —
i | Tank Capacity
4:36L 5 1201000
5430 1501430
6:60L - 20:195L
Base Code / Mounting Type

T0 : Bottom Mount, Welded Stee! Tank

SPECIFICATIONS
MODEL CODE i& w H D A B c E F Capacity (L)
TD4 220 140 180 170 230 120 250 s 36
TD5 220 160 180 170 230 120 250 s 43
% Oil capacity displayed. s the amount of oil which can be held D6 ORrf &b L 00 | 4 1 910 .) Mu | 50 1 95x 11 gy
Vo the bofiom fithe lop ol e ok 12 370 | 230 | 180 | 170 | 370 | 210 | 390 | ' ' 109
% Tanks with over 15L capacilies have 2 oi level gauges. D15 350 | 210 | 260 | 250 | 360 | 180 | 380 | ' 143
# Various lids for differant applications available for each tank. 7020 350 | 210 | 350 [ 340 | 360 | 190 | 380 | 195

TY Sitde Mount Welded Steel Tanks

e Wall / side mounting type welded steel tanks available in various sizes
e Oil gauges and drains are fitted to promote and simplify effective maintenance
e Robust design and structure

o .
i
TY12
L N S Gil Level Gauge 4-295x 1}
= i — ‘ . e ~
| |
il o)z
L - ) : @ |
MODEL CODE r  TPWOY | 2. =
TY 12 | Drain Re s
Tasnlcal':aﬁ)acily 515 I ) . . A
3L 0 15012 = 1
12:115L i 20:2000 e — _ ; °_
Base Code | Mounting Type
TY - Side Mount, Weldedgesl Tank
SPECIFICATIONS
MODELCODE | L w H D A B c F | capacity
* Oil capacly displayed, is the amount of oil which can be held Y3 | 180 130 7 140 200 110 220 137 3
from the bottom to the top of the fank. TY12 37 230 380 410 237 1.5
% Tanks with over 15L capacilies have 2 oil level gauges. Y15 250 - 20 213 - 180 15.2
390 217
* Various lids for different applications available for each tank. TY20 2%0 283 250 20.0

($)SHOWA




.I"ll : !l,lfl;i

Frogressivg f Basigtanei

G}

Sroous

Progressive - Manual Grease Pumps
SHG Manual Sign Pump

e Manually operated progressive type grease pumps
I e 2 grease container / supply methods available
e 2discharge volume types available, dispensing 0.6cm?3 /stroke or 1.0cm3 /stroke

The SHG manually operated grease pumps are designed to be used in either a progressive type
system, incorporating SG distribution blocks, or in resistance type lubrication systems.

Being an extremely simple unit to install and operate, the SHG is capable of dispensing greases with
an NLGI of 00, 0, or 1 in volumes of either 0.6cm3 or 1.0cm3 per stroke.

& SHGDS
(217)
SHGD6 11
o — ! | // &!: Il—_l/ = 30007&1
. w / J !
iy V |
SHG121 [ 7/ "
'_ a [
/7 {
N/
/
: Supply or Return
MODEL CODE - __Poil 2-Rp's
SHG % & |
‘ ; ; 10 Outiet Por
| (| Pt o e o 2R
|| l:400cm*Cadidge (Sealed One Side)
Discharge Volume
‘ D6 : 0.6cm” ' st
120 10em¥st
Base Code
il
r"'“"‘-\
REPLENISHMENT METHODS W Cattige Tenk
GREASE CUP / i
To replenish the unit, a grease gun should be used to replenish the ! § v 'M/ !
reservoir with grease. < /// i
8 ¢ o :
Aol 2
/4 :
TSy &
2 L Supply or Retum | S,
°L ot 2-Rp'k [ [TH
w0 Outlet Port L 50
2-Re'fs 68
(Sealed One Side)
SPECIFICATION
UARTRRRGE f Discharge | Maximum |  Outlet Supply | Grease | Grease Applicable
To replenish the unit, remove the expended grease cartridge from " e : ; 3 R T
the cartridge holder and replace with a new cartridge. MODEL CODE Volime: Oichargs Fo Faxt Capachy s Graase
fcm3/stroke) | (MPa) Size Size {em®) Type Grade
— ‘SHGD6 06 300 Grease Cup
.;L—E_ —— y SHGD61 i 400 Cartridge NLGI
5 Grease Cartridge 1 i
p—— % SHG12 o~ " Rolb | Fe™® ™300 | GreaseCup No.000 ~ 1
;ﬁ- SHG121 ' 400 | Carridge
E' — ~|Mi5x2 | * Ensure high quality lithium greases with a NLGI grade of 00, 0 or 1 are ulilized with the pump unit.
) * Avoid using different types of greases logether. Do not mix greases.
: /; * Though the SHG pumps have 2 discharge ports on either side of the handle, the left port is sealed with 2 plug.
=W * The SHG pumps have 2 return / supply ports, which can be connected to unused ports on a distribution biock, allowing excess
Lannde Howes .~ ’/"f-'!:/ grease fo return to the pump for later distribution.
_Threaded Inlet

* By pulling upon the lever, grease is discharged.  Ensure a full motion is achieved belfore returning it to its original position.

(s)SHOWA



el . . G2V .l e
Progressive - Manual Grease Pumps  kid B ) b
GPH Manual Grease Pump

e Manually operated progressive type grease pumps
e Simple to install and operate
e Discharges 1.0cm?3 /stroke at up to 14MPa

The GPH manually operated grease pumps are designed to be used in either the progressive type
system, incorporating SG distribution blocks, or in a resistance type lubrication system.

The pump will continually discharge 1.0cm?3 of grease per stroke until operation is halted.  Unlike the
GPHW pumps with a pressure displacement mechanism, the GPH range of pumps do not possess
such mechanism and will not be able to operate with the DG grease pistons.

5 grease reservoir fypes are available to cater for user and lubrication system requirements.

GPH0135
(315)

ETT S

T

167

75 _!1?_
q

e

"l

346

“U

Supply or Return {1
Pot 2 Rplie Pl 39
E = 0 |
GPHO10S 205 Oullt Port 0
. 2-Rells :

(Sealed One Side)

T GPHO17S
Eieay |
Replacement
Space 220
GPHO014S
| GPHO013S {:
| ¥ 429
MODEL CODE
GPH 01 (R) 0S

| 1000cm*_Cartidge + Spring

MODEL CODE
GPH 01 & & %
| [ 1 SUPﬁggﬁs‘}g%nsg;g? (ra) SPECIFICATION
oy I - — . a
| S:Smxgsism Spring { Discharge | Maximum | Outlet Pressure | Grease | (Grease Applicable
Gaf_egggcg? Gfi;:szgomiﬂef Type MODELCODE |  Volume | Discharge |  Port | Displacement | Capacity | Container Grease
4~ 000> Canige | (cmPistoke) | (MPa) | Sze | Method | (em?) | Type Grade
7 3@&%@? Spec GRHOT#3 14 X0 G Ci
58000’ Grease Cup GPHO1 %8 2Rl g0 | e
Relief Valve _ GPHO1 %4 10 (GPHOIR |~ corerr | Mamaly o g
R - Relief Vatve Instafied {14MPa} : Relief Valve (Lever) . No.000 ~ 2
- : No kel Vavo SERiIN T insalld) | ' PO 700 | Caidge
Discharge Yolume GPHO01 %05 1000
L 01 1.0em st 4 g : i

Base Code * Contact SHOWA if NLGI #2 grease is o be utilized.

* Please use our recommended greases or one of SHOWA's system specific greases.
("a} Select the spring option when using NLGI 2 grease.  When * Avoid using diferent types of greases together. Do not mix greases.
using NLGI 000 ~ 1, selech the spring-less option * 1000cm? cartridge can be used in the GPHO1 4 7, as long as no supply assisting spring is installed.

($)SHOWR




MHGA Motorized Sign Pump
e Compact electronically operated grease pump for smaller applications
e Discharges 4.5cm? /min or 5.5cm3 /min depending upon power option selected

& = l
® ."
.
Exters h
MHG4

MODEL CODE

MHG4 & & %
| Meator Power Code

| | C:1Phase 100V 50/60Hz
B:1Phase 200V 50/60Hz
D:DC24y
Level Switch

-+ Ne Level Detecling

01 :DC 3 Line Type NPN NO
02 :DC 3 Line Type NPN NC
A1 AC 2 Line Type NO

A2 AC 2 Line Type NC
Grease Container Type

1 : Cartridge

2 Grease Cup

Discharge Volume

4:4.5m ( min (50Hz) 5.5cm®/ min (60Hz)
Base Code

* Please use our recommended greases or one of SHOWA's
system specilic greases.

* Avoid using different types of greases together. (Do not mix)

MHG41C 654
Return Port | B
Rc's [ 1 Wiring Port - Cartridge Tank
)i @ g L a00em?
i W =
| YR >, ¥ !
OulletPort__ { | - ;
Re'is “'»-\._\\ |.L§_s; ] | s‘; = 5
= x_mio" = | @ ;‘:L I
1| e ) I:_:| @? r "') - Displacement
o J_ < ._ 1] . 5 I |l
I | -\ 2- 285 ..,_+_,J
305 J L.‘??._ o a3l
L 166 | 8 _
| 826
SPECIFICATION
[ MODEL CODE Discharge Vol. | Max. Discharge Qutlet Container & Capacity Operating Applicable
{cm3 /min) Pressure (MPa) |  Pori Size {cm?) Temp. Range | Grease
MHGA1 ;:g :g:z " 3-Aclh Cartidge 400 S ik NLGI
' (Select 1 Port) | ) No.000 ~ 1
MHG42 45@ DC24V Grease CUD 300 |
POWER SPECIFICATION
Power Code C B 1]
Voltage (V) 1Phase 100 1Phase 200 DC24
Frequency (Hz) 50 | 50 50 60 -
Current (A) 12 ' 08 07 05 0.38
Rating 10 mins 5 mins 10 mins

MHG7 Motorized Sign Pump

e Compact electronically operated grease pump for mid-range applications
e Discharges 7.5cm? /min or 9.0cm3 /min depending upon power option selected

MHG7

MODEL CODE
MHG7 ¢ & &

| Metor Power Cade
E : 3 Phase AC 200/200 - 220V 504604z
C : 1 Phase AC 100V 50/60Hz
M: 1 Phase AC 110V 60Hz
F 11 Phase AC 200v200 - 220V 50/60Hz
Level Switch
- ;Mo Level Detecling
01:DC 3 Line Type NPN ND
D2 :0C 3 Line Type NPN NC
A1 :AC 2 Line Type NO
A2 :AC 2 Line Type NC
Grease Container Type
1: Cartridge
2:GreaseCup
Discharge Volume
7:7.5m/ min (50Hz} 9.0cm?/ min (60Hz)
| Base Code

* Please use our recommended greases or one of SHOWA's
system specific greases.

* Avaid using different types of greases together.  {Do not mix)

MHG71C 654
O f T
_ Cartridge Tank
i ~ 400cm®
OulietPort__ B I _Jg = Dicg |
Y- — N Comtersi 16~ _[IEs|
m\i =E -‘ = Depth 1 Yo A
g'I = | 3] & ~._ Displacement
l — . I b S 95 | -
L 775 | 100 =2 ol
2025 4‘-46-*
JEE &% |
SPECIFICATION
MODEL CODE Discharge Vol. | Max. Discharge QOutlet Container & Capacity | Operaling Applicable
{cm? /min) Pressure (MPa) Port Size {cm®) Temp. Range | Grease
MHGT1 75 @ 50Hz - 2-Re'e el IR R
MHGT2 9.0 @ 60Hz {Select 1 Port) Grease Cup 300 | No.000 ~ 1
POWER SPECIFICATION
Power Code E c M F
Voltage (V) 3 Phase 2003 Phase 200 |3 Phase 220| 1Phase 100 | 1Phase 110 |1 Phase 200|1 Phase 200 | 1 Phase 220
Frequency (Hz) | 50 50 60 [s0[e60| 0 50 60 80 |
Current (A) 0.29 0.25 0.27 07 06 0.35 0.35 035 |
Rating Conlinuous
Output & Poles 25W x 4P J




e Electronically operated progressive type grease pumps
e Simple to install and operate
e High performance unit discharging 10cm? /min to 12cm3 /min

The GPM electronically operated progressive type grease pumps, are designed for larger scale
lubrication requirements.

Depending upon the power specification chosen, the GPM pump unit possesses a discharge rate of
either 10cm3/min or 12cm3/min.

An array of lubrication requirements can be covered by this unit with the ability to select; reservoir
type, capacity size, discharging pressure of 14MPa or 21MPa, various power options, and the option
of a level switch to enable lubrication management from a distant location.

GPM1013DL

GPM1014C
GPM1023D
MODEL CODE
GPM 10 &% % & % &%
I 0 1 1 1 ! LevelSwitch
| -  No Level Detecting
L * Level Swilch Option —
‘ Terminal Board
- DC Molor No Terminal Board
| i T - DC Motor with Termiral Board
T Prose AC100V 506K
3 1 z
| M : 1 Phase AC 110V 50/60Hz GPMID17EL
E 3 Phase AC 200200 - 220V 50/60Hz
F :1 Phase AC 200/200 - 220V 50/60Hz
‘ | 0 DC24Y
Grease ty & Conlainer Type
| i e Grease
4 - 400cny Carlri et
| 7+:700cm? Garsrg: e
f 8:800cn Grease Cup ]
12 e 0: 1000cm® Cartridge -
Discharge Pressure
1: 1dMPa
| | 2:21MPa -
Discharge Volume
L 10 - 10cm? /min - 12cm? /min (50 - 60Hz)
Base Code =
POWER SPECIFICATION
[ Power Code Sl E F D
PhaseMotor | 1 | 1 3 1 :
200/ | 200/
Voltage (V) 100 | 10 | o0 | 200-220 | 262
Frequency (Hz) [50/60]50/60] 50760 | 50/60 5 SPECIFICATION
Current (A} 0.7 | 06 [026/027] 035 06 [ Discharge | Maximum | Outlet Grease Capagily Grease | Operating | Applicable
Oulput & Poles 25W x 4P 15W x 2P MODELCODE | Volume | Discharge | Port | Nominal | Effective Container | Temp. Grease
| Rating Continuous {em®jmin) (MPa) Size {em?) {em?) Type. Range Grade
GPM1013 300 300 —
GPM1018 10 @ 50Hz 2.Rel [ 800 800 pase P 23
LEVEL SWITCH (OPTION) SPECIFICATION GPM1014 12 @60Hz 14 {Select | 400 | 400 (368g) 0~40%C |\ g
( LIMIT SWITCH TYPE ] GPM1017 10@ DC24V 1Por) | 700 | 700{B4dg) | Cantidge )
Operation LOW ONor OFF  C Conlacl Paint GPM1010 1000 | 1087 (1000g)
] AC125V 3A- AC250V 2A (Resist. Load) GPM1023 300 300
o finig DC30V 3A (Resist. Load) GPM1028 10 @ 50Hz 2-Ret | 800 | \al
Minimum Load DC5V 160mA GPM1024 12 @ 60Hz 21 (Select [ 400 | 400(368g) | 0-40% | | 02
Applicable Pumps Grease Cup Unils GPM1027 10 @ DC24V tPor) | 700 | 700(644g) | Cartridge :
REED SWITCH TYPE GPM1020 1000 | 1087 (1000g)
Operaiion LOW ON * Contact SHOWA f NLGI #2 grease i 1o be utiized.
Max. O/C Capacity AC30VA_ DCSOW * Please use our recommended greases or one of SHOWA's system specific greases.
Max. O/C Curren! DR BEe 00 % Avoid using different types of greases logether. Do not mix greases.
Applicable Pump Cartridge Type Unis ] % An optional terminal board is available for the DC motor units.  AC motor urits are supplied with terminal boards instailed,

(5)SHOWA




Progressive - Distributors

e Progressive build up type grease distribution block
e Individual blocks can discharge differing volumes of grease

[ e Discharge volume range of 0.1cm3 /st to 0.6cm3 /st
e, _ﬂ.‘,lq‘*‘:;,ll'g.r #
* | ' & Utilizing a light alloy, the SG2 is a progressive type grease distribution block. Adopting the build up
a ! method, the SG2 is available with up to 12 distributing ports, each delivering a different discharge
- volume if desired.
626 Models with indicators and limit switches are also available, enabling the user to confirm operation.
c
8 Inlet Block
e :
== Supply Port M10x 1.0
[; v e oA, (2 6 connection)
| AT WA
i 1 | &4 | |
L] A .‘ SRS Felrlr [ 2 }Qifﬁ@r 51
& ! (| 1 B * The diagram on ihe left displays the |
| -f# e o o ‘&’,1'2 = standard position for an Indicator and a
4- 716 7 i ] _I§ % limit switch (Distribution blocks with the
SG2 3 (Limit Switch) . fStroke SE  oplions). It is possble to attach the
Valve Block indicator_—~ | | = = fitings on the opposing side.
I g! 2 & The iimit switch's wiring porl can be
. ! Ireely otated Io point in any direction
- S NI | - —
- D i
Limil Switch 1 74 )
MODEL CODE 85 )
SG2 5 10A
| Valve Block Code . e
| {Refer to botlom ngni lable) £ ﬁ | .
No. of Valve Blocks Connected -EﬂJ‘—- - @ ; ‘(:3
3:3 Valve Block Unit T @_ ¥ .
£ iy Ll
¥ i T - R | s sl |
6 Valve Block Unil = =YTA=
Base Code a Oullet Port M10x 1.0 7 Supply Port M10% 1.0 |
{6 connection) {2 6 connection)
DIMENSIONS
o ? Number of Number of : b
SPECIFICATION MODELCODE | yave Blocks Outlets ; = 5
"Max. Operating Pressure 14MPa {140kglicm?) N SG23 3 3~6 67 84 9%
Applicable Grease NLGI No.00 ~ 1 SG24 4 4-8 84 101 1 13
' 0.1, 0.15, 0.2, 0.3, SG25 5 5-~10 1005 118 131
Disehetge Volorme 04, 06em®s! (5G26 5 6-12 1175 134 |
| Min. Number of Outlets 3 (Point 1)
| Max. Number of Qullels 12 {Point 2}
"Min. Valve Blocks 3
(Point 1) When all outlets discharge 0.1 or 0.15, the "Minimum Number of Discharge Valve Black Codes -
Number of Oullets* is 6 ports. Outlets per Volume per Standard Indicator Atiached Limit Switch Attached
{Point 2) When all outlets discharge 0.4 or 0.6, the “Maximum ValveBiock | Outietfcm3/st) | Outlet Type On Right On Left On Aight On Left
Number of Outlels” is 6 porls. 04 oA — | == I == .
* Take note thal the unit cannot operale il a single por is blocked 2 Ly L s L 155 15
or sealed as the unit ulilizes a progressive system. 02 204 2041 20h2 20A3 20A4
03 30A 30A1 30A2 30A3 3044
0.2 10B — -
3 03 158 1581 1582 1583 15B4
0.4 208 2081 2082 20B3 2084
L 0.6 308 3081 3082 3083 084 |
LIMIT SWITCH SPECIFICATION * Ensure to specify valve block codes when a combination of differing discharge volumes are required for a SG2 unit.
( Reted Voliage Non-inductive Load (A)| Inductive Load (A) * An indicator or a limit Swilch cannot be attached to a 10A or 2 108 mode! valve block.
w Resistance| Lamp | Inductive | Motor
! load | Load | Load | Loa o B
AC125 10 15 3 25 Upe) o0
AC250 10 15 2 15 Lt [0 O | Righ
DC8 10 2 5 2 F—
DC14 0 ) 5 2 ! -- * The Left or Right-hand side of a Dester G Block can be cetermined by positioning the supply
DC30 5 15 15 15 —— portupwards.  Refer to the iustration on the left.
(DC125 04 0.4 0.05 0.05 (o ©

($)SHOWA




et

G{

fireasy

AR

Frograsaiva Ji Beetrikatar

Progressive - Distributors

| e Progressive type distribution block, dispensing measured volumes of grease
| e Can be used as a parent (primary) or child (secondary) distribution block
e Easy to install, space efficient design

The SG6 models are a progressive type distribution block, possessing an all die-cast aluminum body.
The fixed discharge volume for each port is 0.3cm3 /st, however this can be altered by placing PSG
attachments onto the SG6 distribution block to combine multiple ports into a single port, allowing the
SG6 to be used as primary (parent) distribution block.

The linear and compact design of the SG6 models allow for easy installation without consuming
excessive space.

$SG604, SG606, SG608

Supply Port
Re s

Models possess same external dimensions
MODEL CODE - SGB04 uses ports 2, 3, 6 & 7 for distribution
SG6 04 B - $G606 uses poris 1, 2, 3, 5, 6 & 7 for distribution
| Attachments ) o
& Noae Allached S5G608 uses ali ports from 1 to 8 for distribution
| B : Indicator {Pin}
_ C:Limit Switch
l:. _a: %I Ports I Outlet Port
U 8 bon Y. M10x1.0
08 :8 Porls
10 10 Ports
‘ 12:12 Ports
Base Code

SG610, 5G612

|g‘§
i1

65

jl/—-y
i

f P 5 ; IESE Medels possess same exlernal dimensions
| 8] L= S b - 5G610 uses ports 1o 5 and 7 1o 11 for distribution
i’.: | gt g=y - 56612 uses all ports from 1 1o 12 for distribution
PSG ATTACHMENT (Combines multiple outlets) o = i .;:\‘ Oullet Port
a2 {:}" MiDx 1.0
SG60BA + PSG104 1l = K AF
: : of
= 5 '"’“—J
13 — PorNo. / =
o608 0 . INDICATOR OPTION LIMIT SWITCH OPTION
PSG104 bt Discharged (Confirm operation visually) {Detect operation electronically)
| |
&~ (483
i5 9
= BBk e (I oy
| T? o W oa
¥ 3 Adapter
. s
!fg:" A s @ Gasket
- d [ o j]. 3
I =
s € = e
L:L-f_'_l* L/ x mtach e PSG ?PEClFICATIONm = = = = _ i
OutietRe g/ | 23 | with the: ) section MODEL CODE v gl : : ]
(Ext. HEX 13) iy oty B¢ (] Qutlels Per Port Sizes Pressure (MPa) Grease
the end of the SG5. sild : 03me s Supply Port
SG606 6 . i
i : Canbe incezsed Re'ls " NLGI
PSG DIMENSION / DETAILS G610 10 e | Lk
( No. of Ports | Length | Quaniity of Componens $G612 B i g
MODEL CODE 5 -
Combined | (1) |W|@ B |® % The SG unil will not operate if any distrbution port outlet) is sealed. Use 2 PSG o install a return ine to the grease pump.
PSG102 2 40 |1 [1]1]4 * Asingle port will discharge 0.3cm3/st. A PSG attachment can be used to combine multiple discharge ports into a single outlet
PSG103 3 57 1] 2([1]6 Eg A PSG102 will combine 2 ports enabling 0.6cm? /st of grease to be delivered lo a single point, while using a PSG104 to
\PSG104 4 M |1 ]3]1]8)] comoing 4 ports will allow 1.26m3 /st of grease to be delivered fo a single lubrication point,

(3)SHOWA




Single-line - Manual Grease Pumps oXg Lo ddd o
GPHW Manual Grease Pump

e Manual volumetric type grease pumps with pressure displacement lever
e Simple to install and operate,
e Discharges 1.0cm?3 /stroke at up to 10MPa

Possessing a pressure displacement mechanism, the GPHW manually operated volumetric type '
grease pumps, are designed for the single-line lubrication systems.

By simply flicking the pressure displacement lever after the single line piston distributors have
discharged their pre-measured amount of grease, pressure is displaced, allowing GD piston
distributors to replenish for the next discharge.

5 grease reservoir types are available to cater for user and lubrication system requirements.

GPHW010S

32
32 ;
GPHWO17S @ (Sealed One Sice)
Bution
B GPHWO14S

GPHWO013S
A
GPHWO014S
MODEL CODE ‘ < EededOne S
GPHW 01 0S » -
" 1000em? Caridge + Spring

MODEL CODE
GPHW 01 & % SPECIFICATION
| I mpﬂg;ml?u Sm&g (*a) i Discharge | Maximum | Outlet | Pressure | Grease | Grease Applicable 1
| s: Assisting Spn MODELCODE |  Volume | Discharge | Port | Displacement | Capacity | Container Grease
G c & Container T T : ; .
3';“” asm o ner Type {cm? istroke) | (MPa) Size Melhod {cm?) Type Grade
4 :400cm? Carvridge GPHWO13 Ll Grease Cup
| | 7:7000m Carricge GPHWO18 2-Re'i 800
1000cm? Mo Spring Spec. Manually NLGI
 8:800cm’ Grease Cup - GPHWO14 10 10 (Select {Lever) b Ne.000 ~ 2
%‘f‘.”fo'ﬁ; m‘m GPHWO017 1 Port) 700 Carlridge ’
| e ﬁ GPHW010S 1000 J

* Conlact SHOWA if NLGI #2 grease is o be uiilized.
Select the spring option when using NLGI 2 grease.  When * Please use our recommended greases or one o SHOWA's system specific greases. Do not mix ditierent types of grease
using NLGI 000 ~ 1, select the spring-less option * 1000cm? cartridge can be used with the GPHW017, as long as no supply assisling spring is installed.

(s)SHOWRA




- _ r
Single-line - Motorized Grease Pumps  kekd el dad B
Hdil] Motorized Grease Pump

e Motorized volumetric type grease pumps with pressure displacement mechanism
e Simple to install and operate
e High performance unit discharging 10cm3 /min to 12cm3 /min

Possessing a pressure displacement mechanism, the GPMW electronically operated volumetric type
grease pumps, are designed for the single-line lubrication systems.

Depending upon the power specification chosen, the GPMW pump unit possesses a discharge rate of
either 30cm3/min or 36cm3/min.

Various lubrication requirements can be covered by this unit with the ability to select; reservoir type,
capacity size, various power options, and the option of a level switch to enable lubrication
management from a distant location.

GPMW303DL

GPMW300D

MODEL CODE

GPMW 30 % % % %
L] ] e 8
l ‘ | _L:Level Swich Opiion - —
Terminal Board

| -+ DC Motor No Terminal Board
T - DC Motor wilh Terminal Board
| Motor Power Code
G 21 Phase AC 100V S0/60Hz
W 1 Phase AC 110V 50/60Hz
‘ £+ 3 Phase AC 200/200 - 220V 50/80Hz

F 1 1 Phase AC 200/200 - 220V S0/60Hz

| 0 DC24V
Grease Capacity & Container T
oo Cpecy & onivr e GRMWIOOEL
4 400cm® Canlnidge
7 700cm? Carlndge
8 800cm?® Grease Cup
_0:10000m Canidge __
Nominal Discharge Volume
30 - 30cm® imin - 36cm? fmin {50 - 60Hz)
POWER SPECIFICATION
( Power Cods C | M E F 0
Phase Motor 1 1 3 1 -
. 200/ 200/
Voltage (V) 100 | 110 2004220 | 200-220 DC24
Frequency (Hz) [50/60[50/60] 50 60 | 50/60 :
“Tol. Current (A)] 0.97 | 0.67 |0.41,042] 05 18
" Tot. Output (W) 52 55 422
| Operation Max, 3mins with resting lime of 45mins +

* Tot. Current & Tol. Qutpul in the above lable, shows the tolal
values for the motor and solencid valve.

SPECIFICATION
LEVEL SWITCH (OPTION) SPECIFICATION Discharge | Maximum | Outlet | Pressure | Grease | Grease | Operating | Applicable.
( LIMIT SWITCH TYPE MODELCODE | Volume | Discharge | Port | Displacement| Capacity | Container | Temp. | Grease
Operation LOW ONor OFF _C Contacl Point (cmdimin) | (MPa) | Size | Method | om*) | Type | Range | Grade
: AC125V 3A- ACZ50V 24 (Resist. Load) GPMW303 300
e nsky DC30V 3A (ResisL. Load) GPMW30B_ | 30@ 50Hz 2-Rcs | Soenod | goo | CeeeCwP e
Minimum Load DCSV 160mA GPMW304 36 @ 60Hz 8 (Select Valve 400 0~40°C No.000 ~ 2
Applicable Pumps Grease Cup Units GPMW307 30 @ DC24V 1 Port} (2 Way) 700 Cartridge :
REED SWITCH TYPE  GPMW300 1000 J
Operation LOW ON * Contact SHOWA.if NLGI 2 grease is fo be utilized.
Max. O/C Capacity AC30VA  DCSOW * Please use our recommended greases or one of SHOWA's system specific greases.
Max. O/C Current AC033A DC1.0A * Avoid using different types of greases together. Do not mix greases.
| Applicable Pump Cartridge Type Unils * An optional terminal board is available for the DC motor units. . AC motor units are supplied with terminal boards installed.

(s)SHOWA




Single-Line - Distributors k] Lol \ddd] B
DG, GD Piston Distributor & Junction Block

e Volumetric type single-line piston distributors, dispensing measured volumes of grease
e Variety of discharge volumes available to simplify planning and installation
e GD distribution blocks for DG piston distributors

The DG piston distributors, discharge a pre-measured amount of grease utilizing the force of the grease pump's discharge pressure. 8 discharge volumes are
available ranging between 0.03cm3/st to 1.5cm3 /st.

The GD distribution blocks are to be used in conjunction with the DG piston distributors.  Single or dual sided distribution port GD blocks are available, with
connection port numbers ranging from 4 to 14 ports.

DG PISTONS
M8x10 MBx10
=g - o T e 2T
5 M8 x 1.0 - HEX10 HEX14 )
Tl T
' |
Hexto (1) s S
!5113 .| N 0
0 1k | [
- Lo ; g i
5| y = = HEX12 nexiz A || HEX13 ] T
@ @ 1 =
R El_ Rla m—v— Rl
! . Diag. 1 Diag. 2 Diag. 3
: DG Pistons & GDB
{’- ‘..L-_‘
S
£ SPECIFICATION
Discharge | Activating | Return | Connection | Connection | Recommended Size | Applicable |
MODEL CODE | Volume | Pressure | Pressure Size Size Piping Size | Reference | Grease
fem¥/st) | (MPa) {MPa) | (GD Blocks) | (OulletPort) | Main | Branch| (Diagram) | Grade
DG3 003
DG5 0.05 Min. o
MODEL CODE DG10 01 25 G
DG 20 DG20 0.2 26+ | =4 NLGI
" psemeone == ¥ k2 Rl | MBXTO | pyeror | Exterior a2 o002
3 Dl DG50 05 |Max.Usage 0
10 O.dear® DG100 1.0 10("a) :
| 5 06150 5 D3
?3.; ¥ ?jm * (*a) The GPMW grease pump 's defaull discharge pressure is set at 8MPa, while the GPHW hand pumps are sel at 10MPa.
_150:15emt * "Return Pressure” refers lo the internal pressure of the distribution pipes, which it must drop below to enable the pistons to
[ GBaseCole replenish themselves between discharges.  Faifing to drop he distribution system's pressure below 1.2MPa, prior to the
succeeding discharge, will lead to irregular volumes of grease to be discharged.
GDA %K (Dual Sided Qutlet Block)
Re'ls B 27 f Number of
&5 - 5 t / - MODELCODE | - ons| A | B
LT 2 s | e 125 -
o . T /= 1, [ . ® [ -
(FF oAl al o GDAGK 6 49 | 38
% ¢ @i i€ i | i GDASK 8| 65|
© | £ . Iv| = [GDAOK 0 | & | 70
. PP = GDA12K 12 97 85
GDASK L A _l M L_ | GDA14K 14 13 | 102
GDB#% K (Single Sided Outlet Block)
Number of
- Rclis B MODEL CODE ConmBatia A B
el s 85 | P=16 125 | GDB4K 4 49 | 38
L GDB5K 5 85 | 54
ST OO T T (o GDBBK 6 8| 70
@ ¢ | 7 N T GDB7K 7 97 | 8
e = GDB8K 8 113 | 102
GDB7K L A GDBOK 9 |29 | 18
GDB10K 10 145 | 134

($)SHOWA




Accessories - Grease System

m Rucennoriny

UT30PS, DGE, PGL250, DL20 Monitoring Accessories

e Apparatus for monitoring and controlling pressure
e Gauge displays pressure in MPa & kgf/cm?2
e Pressure switches to suit various system requirements

PRESSURE SWITCH DISCHARGE SENSOR INDICATOR NIPPLE PRESSURE GAUGE
L‘ 4 E.
| )
. L 4
]
UT30PS DGE DL20 PGL250
UT30PS PRESSURE SWITCH
The UT30PS pressure switches are specifically designed for the use in grease Iubrication systems.
[nstall the switch on the primary lubrication channel to detect pressure fluctuations. (Not to be used
on branch channels / pipes)
- SPECIFICATIONS CIRCUIT DIAGRAM
N MODEL CODE UT30PS =
2 Operaling Pressure 3.3MPa  20% e
T Returning Pressure 28MPa 20% ’/‘;_l
— Maximum Operating Pressure 10MPa =
N Port 2R 6 Contagl Capacily AC125V 2A AC250V 2A DC30V 2A COM NO NG
—_— Connection Port Size 2-Re s Black While Red

The DGE sensor detects grease discharge and sends an electronic signal to relay the information.
By installing the DGE sensor at vital lubrication points, monitoring and Iubrication management can

& take place more effectively.
i Discharge
bl @ Port Re s
© 8 8 ||
E I f SPECIFICATIONS CIRCUIT DIAGRAM
| 3 : MODEL GODE DGE10R DGE10L DGE20R DGE20L -
| ﬂ | L) Discharge Volume 01em¥st | Gaem¥st | o2em¥st | 0.2cm¥ st
141 I e Operating Pressure 25MPa
Bl R 'cgnngcrm Relurning Pressure 1.2MPa
25 krd =
15 |\ Port 2Rc e | & Contact Capacity ACT25V 2A AC250V 2A DC30V 2A
il L Discharge Port Direction Rgnt | Let | mgm | Len coOMl MO NG
OGE L (Discharge Port on Let) Connection Port Size 2-Re'is Black White Red
DL20 INDICATOR NIPPLE PGL250 PRESSURE GAUGE 28
g, e
MODEL CODE 17 1 MODEL CODE T ‘:
bray Operating Pressure J' ll PGL 250 |
20 250pa o dndeg, | | B & -b--die
Base Code 5, | “fmecos I
|
i« 6 : - - 22T
By installing a DL20 indicator nippte on DG type Easily viewable pressure -@'
piston distributors, blockages can be detected in gauge to monitor grease
the distribution channels. pressures within the lubrication o]

Blockage will cause the indicator pin to protrude.

system.

(3)SHOWA




special Lithium Complex Grease

e SLC-1is alithium complex high performance grease, able to perform in various environments and harsh conditions
e Available in 2 cartridge sizes of either 400cm3 or 700cm3 to suit Showa's grease lubrication system chosen

(S——
TRS—
—
T —
—
T ——
Supetior pump-ability & flow SPECIFICATIONS
Compared to general-purpose grease, the lithium CODE Size NLGI Grease Type Characteristics |
complex SLC-1 possesses a lower level of apparent SLC14 400cm? 1 Spedcial High heat, pressure, water, wear resistance. Durable grease |
viscosity, assisting in the reduction of flow lost within SLC17 700¢m* i Lithium Complex | possessing high shear and struclural slability.
the distribution system.

With the addition of special additives, the SLC-1's
viscosity grade at temperatures of 0°C to 5°C, is
around half that of general-purpose grease in the

same conditions, SLC-1 TEST COMPARISON
As such, the SLC-1 can be safely utilized in Unit | SHOWA IN GREASE SLC-1 |  General Lithium EP #1
extreme temperatures and outdoor applications. Thickener z Lithium Complex Lithium Soap
Base Oil . Highly Refined Mineral Qil Mineral Oil
High structural stability Additives - | Liquid Organic Molybdenum :
Structural instability, where oil separates from the Consistency (Unworked / Worked Penetration)| - 348/343 320/322
grease itself, is a very serious problem. Drip Temperature i 280< 180
Solidified grease from separation, can lead to Recomimanded Temp. Range i -40°C - 200%C -20°C ~ 110%C
defective operation of distribution devices, which in glg:ﬁzg"gu Separau;n"”“c"z“” L L &g
turn may lead _lo the malfunction or damage of 0.025kgliom2 x 50°C x 24H mass% 6.0
expensive machlnefy: ) ) . Copper Corrosion 100°C x 24H - Pass Pass
The SLC-1 has minimal oil separation and retains T 204.9 .
high structural stability, suppressing problems 2090 105 825
caused by the solidification of grease. 1005 16.0
; 181 189.9
High load tolerance Apparent Viscosiy | 5°C 1057 Pass 515
Compared to general EP greases, the SLC-1 To00s 140
possesses around twice the load/pressure 18! 1726
resistance and burn prevention characteristics, 0°c 1057 36.0
making it an ideal grease in extreme conditions. 100" 75 -
; Last Non Seizure Load 1240 981
Heat & low temperature compatibility g Soeed b Bl e Toet [ el N 3920 1561
The SLC-1 can be effectively utilized in a very 177 (e Load Wear Index 603 24
broad temperature range. High-Speed Four Ball Wear Test = any
The SLC-1 shows no sign of becoming liquefied at 1200mm x 40kgf x 20°C x 1h '
high temperatures of 200°C and remains in a SRV Test Friction Faclor : 0.081
gelatinous form without solidifying at temperatures [ 300N x407C x SO0HZx 40min. | Max. WearDepth | um =
as low as -40°C. CRC Bearing Life Test  150°C h 361.0

SLi Multi-Purpose Lithium Grease

e The SLI is a multi-purpose lithium grease for general use, able to perform in

= >———  Grease Cartiidge various environments and conditions
1 =/ s ® Contained in a 400cm3 size grease cartridge, the SLI lithium grease are available
oy " > in two NLGI grades of either No.0 or No.1
g | . tumelns  SPECIFICATIONS
i Cartridge Holder -
. ez A il S — - CODE Size NLGI Grease Type Characteristics |
"':.\& - Threaded Inlet SLI04 400cm? 0 Lithiom Heat resistant, pressure resistant, water resistant and durable
b ) . SLI14 400cm? 1 lithism grease fer use in multiple applications




Fittings - Low To Mid Pressures
PIPING COMPONENTS Connectors & Fittings

e SHOWA's connectors and fittings for the creation of lubrication channel infrastructures.
e Components have been tested and are recommended for use with SHOWA pump units and distributors.

BUSHING MODEL |Pipe| @d | L T HEX | PROPER NUT MODEL [Pipe | md | L 5 HEX
\ PA32  [@32] 33| 12 | MBx10 [ ! F'L‘IE] PAN3.2 [w32] 33 | 12 MBx 1.0 10
L PA4. @4 |41 | 12| MBx10 8 % PANS @4 | 41 ] 12 M8 x 1.0 10
B a PAG 26 | 61 | 125 MI0x10 10 wex
& " P._i& =8| 82| 14 | MI4x15 14 MODEL | Pipe| @d | Lt Lz T T =TT]
PAT0 | 2i0]102) 15 | MiBx15 17 PH3Z  |732] 2 | 13 | 18 |MBx10| A's | 10
PA12 |wi2[122] 16 | MiBx15 19 [PHe @4| 3 | 13| 18 |M8x10| AVs | 10
PHIGPITS| 4 | 25 | 13 | 18 | M8x10|M6x0.75| 10
PHAMGP1| 24 | 25| 13 | 18 |MBx10|M6x10| 10
BeelE Pg:gﬂ :;; : : ’ZD :_'5 PHEUNF [ 4 | 3 | 18 | 18 | M8x10|i/auni28] 10
i il =5 It = PHAMBP1| =4 | 3 | 13 | 18 |MBx10|M8x10| 10
® 14—|_‘[| ,3] P85 e a5 PHAMST | =4 | 3 | 13 18 | M8x 1.0 [MBx1.0Tp| 10
= B8 28 |61 | 10 7 PO4MIOPY | d | 3 | 13 18 | MBx1.0|MiI0x1.0] 10
i T O T 5 PH6 #6| 4 | 14| 20 |Wioxi0] RVs | 12
Lo el 3 g B J (Haa  Jeef25] 7 | 205 [Mex10[ Rs [ 125
] [PH62 | 26| ¢ |85 26 |mioxi0| RV | 14 |
Ji=
NIPPLE MODEL |Pipe | erd | L T T HEX )
PD32  [232] 2 | 18| M8x10 | R | 10 e, _—'1 [Pt -lal7] 0 [Acls[ RUs [ 12]
PDi_ | o4 | 3 | 18| Mexi0 | RUs | 10 : E} (P2 - s |1 2 |Rew | RW [ 17 )
PDAM5 | =4 | 2 | 18 | M8x10 | M5x08 | 10
POGMGPOTE| =4 | 2 | 18 | M8x10 | Mex075 | 10 (Pigs [ - [ 3 -] 19 [Res| RVe | 18 |
PDAMEP1| =4 | 2 | 18 | M8x10 | Mexi0 | 10 Preas [ - [ 4] [ 20 [Reva | RUs | 14 ]
PO4-MBP1| 4 | 3 | 18 | MBx10 | MBx10 | 10 ;
PD4-MBT | =24 | 3 | 18 | MBx1.0 |M8xi.0Taper| 10 MODEL | Pipe | =d | L L2 T T | =A
PORMIOP | =4 | 2 | 18 | MBx10 | M10x10 | 10 PHR8. | =8| 6 | 19 ] 30 [Midxt5) Rl | 18
8 [l az e wra | 7% 1 0 PHFBOT | 28| 4 | 19| 30 |Mi4x15| Rs | 18
PO6 517 T woria Ak 7 PHFI0 |210| 8 | 22 | a2 |Mi6x16]| R | 20
PDE-MI0T| 26 | 4 18 | Mi0xiD N10x1 OTaper 12 LP.HF'H 12| 10 | 245 35 Mi8x15| R3s 22
=
';,;':‘ ;g 552 ;: m::: 21}: :5 (FHD4 | 4] 3 [135] 155 |Maxi0] R' | 1 |
e T R T B R PHDE | =6| 4 | 1 | 22 |Mi0x10] RVe | 14
T AEOERE AN TR U BT _ PHDBE | 28| 6 | 19 | 30 |Mi4x15| R | 18
PDI2_ |12 10 | 32 | Mien15 | A% | 21 £ EHElSist0] 6 (2 | % |WibsiBl AW | 20
=d
o o meill i ot [ - [3s[ 7] 21 [Ree [ AW [ 13)
8 Nl !B (Dol [e4] 3 [23] mpis | Mexio | 12 ) ! 1'_.75'
S % Po110 | @6 | 3 [ 23 [ Mioxio | M8xi0 | 12 | ] S :‘l MODEL | Pipe L T 2A P H
g o/ \u s/ L PLG o4 14 MEx10_ | 10
i \PL8 26 15 M0 1.0 12
KH1 4] 3 | 20| MBx10 | R | 14
KH2 =6] 4 |205] MiOx10 Rlla 14 PLF8 28 20 Miax1s T
S KH4 . 4 | 21 Relfa M10x1.0 14 PLF10 210 25 MIBx15 20
~E = KHS 6 | 26| Re's | Mizni0 | W7 PLFI2 =12 % T =
3 ‘fjﬁ_‘ KH6 5 (o | R | A% | 17
Hex/_ N T KH7 . [ 24 Re'ia Mi12x1.0 17 MODEL Pipe| L | Lo T ZA 2D i
- KH8 6| 4 | 19 | MiOx1.0 [Mi0x1.0Taper| 14 PJD304 | o4 | 28 | 285 Max10 i1 65
KH9 26| 4 | 20 | Mi0x10 |Mi2xi OTaper] 17 P36 | 6| 31 | % T T
KH10 | 28] 6 | 28 | M14x15 |Mi2xiOTaper] 17
(PKD4 EAERED Max1.0 i | 65
CHECK VALVE MODEL [Pipe] L T T | HEX —— St S0 15 | W0 LR
' . S e ws [ wecin | %% | W o "“[EE‘Z‘ PKD8_ | #8 | 40 | 20 M14x15 8 | 65
i : o[B8 e e g e e =k o [PKD10 | 210] 45 225]  Mi6x15 20 | 65 |
e . [pcs 26| 225 | M0xi0 | RUs | 12 D PR s e
b iR PKFI0 | #10| 45 |225|  Wi6x15 20
(Pva =4| 232 | M8xi0 | RVs | 10 ) g PKF12 | 12| 50 | 25 M18x1.5 2
[PV6 | w6| 232 | Wioxio | RY | 12 | 31/
— MODEL [Pipe| Lt | Lz T E
. 1 PKA 24| 25 | 15 MBx1.0 10
W0 I Pesipo b T TR T PKe | 6|29 | 15 M10x 1.0 2
PD604 @d | 3| 20| MBxiD | MIOx10 | 12 -
PDS04 | =4 | 3 | 23 | WMBx10 | Midx15 | 14 P .
PDB0S_ | 26 | 4 | 23 | Mix10 | Midxis | 14 JUNCTION MODEL [Pe| L [ L[ T | wA | o0 [
PD100d | =4 | 3 | % MBx1.0 MI6%15 | 17 e g JDZ =4 | 30 - | MBx1.0 15 65 16.5
ik o PD1006 | =6 | 4 | 26 | Mi0xt0 MI6%15 | 17 © : J/— JD26 26| 30 - |Mt0x1.0 15 65 16.5
PDI00B | =8 | 6 | 30 | Midx15 | Mi6x1s | 19 g IESH Jo3 24|30 |15 [MBx10] 13 65 | 1
PDBOB | =8 | 4 | 29 | Mi4x15 | Mi0x10 | 17 g = Jod @430 | - [Mex10f 13 | 65 | 16
=0 D102 | =4 | 27 |143|Mexi0| 13 | 72 | 63
’ ) [0D103 | =4 | 27 286 MBx10| 13 72 | 63
I MAINPIPE NIPPLE WODEL [Pie| 26| L] T T [ hex
T L P60 | =6 | 4 |175] MI0x10 | MI10x10 | 14
N | [Poe12_ | 6| 4 | 20 | Miox10 | Mi2x10 | 17 Ei
— |PD812 6 Mi4x15 | M12x10 '




PIPING COMPONENTS Connectors & Fittings

e SHOWA's connectors and fittings for the creation of lubrication channel infrastructures.

e Components have been tested and are recommended for use with SHOWA pump units and distributors.

CROSS [MODEL | Ppe | L T ZA | 2D
- =2 [JD40B @6 | 30 Mi0x10 M| 85 )
(MODEL [pipe] L [ L] ™ T2 T | @A
JHD3 [ =4 15 | Rels | MBx1.0[Mex10[ 15
JHD301 | =4 | 30 | 15 | MBx1.0 | MBx1.0| Rclie | 15
JHD304 | =4 15 | Ac's | Rels [Mex10] 15
JHD306 | @6 | 30 | 15 | Acla |Mi0x10|MIDx10] 15 )
(JHD302 [ =4 [215] 15 [ Rels | M8x10 | [ 15)
[WHDa [ wma |30 | 15 | Rells | M8x1.0 [M8x1.0[ 15 |
(JrDa01 | =4 | 30 | 15 [ Mex1.0 | M8x10| Relis | 15
(HDa02 [ w4 [ 30 | - | Rcls [M8xi0] [ 15)
(I MBx1.0 [ M8x1.0] Relle [ 15 |
[JHD501 | o4 | 20 Rclis | MBx1.0 | M8x1.0[ 15 |
MODEL |  Pipe ] PR T T | HEX)
PIM EREE MBx1.0 | MBx10| 10
% — PM6 S M10x16Miox10] 12
) X PM8 =8 33 M14x1.5|Mt4x15] 17
g/ n [PM10 210 [ 3 Mi6x1.5|Mi6x15] 19
PM12 @12 | %9 MiBx1.5|MiBx15] 21
PM604 | wd @6 | 23 | - | M8x10 [Miox10] 12
& (PM104 @4 | 23] 18 | Mexi0[mi2x10] 14 )
z PM106 @6 | 2| 18 [Mioxio|Miaxto| 17 |
& PM108 @8 | 33| 26 |Mid4x15[MI8x15] 21
g PMi10 @10 | 3 | 28 |[Mi6x15/M20x15| 23
[PM112 =12 | 39| 29 [Migxi5|Meax1s| 27
PN4 =L 23 MBx1.0| Rp'e | 12
% PNG =6 2 M10x1.0] Rplls | 12
B PNB =8 B M14x15] Rplifs | 17
E PN10 210 | 3% WiGx15| Rplis | 1
PN12 w12 29 MiBx15| Apds | 21
MODEL [Pipe| L | L | T T T: | HEX
g PN104 | @4 | 23 | 18 | Rplls | M8x1.0 |M14x1.0| 17
g PNIOG | 6 | 23 | 18 | Rp's |Mi0x1.0|Mi4x10| 17
2 PNIOB | 8 | 33 | 26 | Rplla |Midx15[MiBx15] 21
E o IpN1to [ei0] 36 | 28 | Rplla [Mi6x15[Me0x15] 23
IPN112 | =12] 39 [ 29 | Rp¥%s [MiBx15[M24x15] 25
[ MODEL [Pipe|wd| L | L T HEX
PQI0] - [e ] 4 Al 10
PO8 32| 4 MBx 1.0 10
PQ10 4 |2 | 4 Mi0x1.0 12
PQ8T 3|19 5 Taper M8x10 | 10
PQ10T 4 [19] 5 Taper Mi0x10 | 12
PQ12T 6 | 24 3 Taper M12x10 | 14
(PaJto 35 (33| 19 M10x1.0 14 ]
(Pau12 4 [u8| 19 Mi2x1.0 17 ]

TUBE BANDS
N e G
8 et A

PGOM4 - PGH1O
I

L
=

HOSE ENDS
1—'£E:IL-IJ
le /i-
_J -
,o L._
PE!
FEMALE SCREW
|_ L
]
2/ >
LG IEE
PEF* PFF*

TUBE INSERTS

3
33{_‘%‘
5 e

ROTATING ELBOW

(8)SHOWA

MODEL | Fipe ed L s
PZ4 ENE 8 04
PZ6 @6| 88 8 04
MODEL O-Ring L T HEX
PG1 No O-ring 13 Rils 10
PG104 53 O-ing 155 MBx10 | 8
PG106 S5 O-iing 155 M10x10 | 10
[ MODEL | Gasket |GasketSize| L T HEX |
PGB =125x151) 8 M8 x 1.0 12
PG10 FIBER | =i5x151 | 10 | Miox10 | 14
PG12 2iTxi5 | 12 | Mi2xi0 | 17 |
PGEC wizx1s ] 8 | mexio [ 12 ]
PGIOC | COPPER | =14x 15l | 10 | M10x10 | 14
PG12C @16x15t | 12 Mi12x1.0 17
PGBN #12x2 | 8 | Mexi0 [ 12
PG10N RUBBER | =14x21 | 10 | Mi0x1.0 | 14
PG12N Z16x2 | 12 | Mi2x10 | 17 |
PGO04 145 Mex10 | 8
G006 15 | Mioxio | 10
PGD0B 23 | Midxi5 | 14
PGO10 2 | MiBx1s | 17
(NODEL [Pipe | md |26 | wD | L | L |vees)
PEB4 |4 | 3 [36] 8 16 | 125 [w60a|
PEB6 | w6 | 5 [52] 7 | 25 | 185 |z70d
[PFB4 zt| 3 [36] 6 27 1 |z60a)
lprB6 e8] 5 [52] 7 42 | 17 |o7Dil
MODEL |Pipe| #d [ 2D L FHIEEEY
PEFA | 4| 3 | 6 | 145 | 18 [M8x10] 10
PEF6 (w6 | 4 | 7 [ 145 | 24 |woxio] 12
(Prra Jea[ 3] 6| 18 [ 85 [max10] 10]
(PrF6 (w6 [ ¢ | 7 | 24 | 12 [mioxiof 12 )
MODEL |[Pips| L @d 2D
ALd BT 10 2 25
ALS EANEE 35 4
AL 78 16 44 B
ALlD [@10] 16 6.1 8
A2 |z12] 18 84 10 )
(moeL [Ppefea| L | L [ T | T |Hex]
wo| 3 |29 ] 18 | RYs [MBx10] 12 |
6] 45| 28 | 21 [mioxolmioniol 14 |
@6 5 | 31 [ 21 |wizxtomioeio] 17 |
(moDEL [Pipe[ L [ L | T | ™ | oW | HEx]
{sdot01 | - |35 |285] AYs [ReVa| 14 | 12 |

19



LT

DA, DB Dester Uni

(| (]
|
DA
~st =P
--T-f Em———
DB
MODEL CODE
DB 6D
Connection Port Size
D M8 x 1.0 Conneclions
‘ K: Re'fs Connections
Number of Connection Porls
I DASeries | DB Series
66 Ports 4:4Ports 1 B:6Pors
8B Ports 5:5Pors i 9:9Pors
10:10Pois | 6:6Pors i 1010 Pors
12:12Poris | 7:7Pons © 12:12 Ports.
Base Code / Port Positions d
| DA : Dyal Sided | DB: Single Sided
ASSEMBLY EXAMPLE
e e | L A
shobE (| ...
l__,,'.' e Distribution Pipe
DB7D & PSS . Proper Nut
__/PﬁN-t
{ Sleeve
/e
| 4
E Proper Unit

e

PA Bushing \ Dester Unit / PG Plug
DeeD

* When utilizing a PSS in conjunction with the Dester Uni, place a
PAN4 Proper Mutand a PB4 Sleeve on the pipe.
* To complete the connection, attach the PAN4 to the PSS unit.

e Multi-port (4 to 12) distribution junctions

e Compatible with Flow Proper Units and Continuous Units
e DA types possess outlets on both sides, where DB types are single sided
e Port connection sizes of either M8 x 1.0 or Rc 1/8 are available

The DA and DB Dester Uni junction bars, possess multiple connection ports to allow lubrication

channels to be divided into further segments.

DA DESTER UNI

Diagram : DASD Madel

§ ¥
A — TN |
Fr= =y y
\ DH@ =D a9
[ _“:-fz_.'*-i_\*,:’f_ELL
=3/ A
DIMENSIONS
[ MODEL CODE | Numberof Ports | Connection Size A B &
DAGD 6 M8 x 1.0 48 36 16
DASD B MB x 1.0 64 52 32
DA10D 10 M8 x 1.0 80 68 18
DA12D 12 MBx 1.0 9% 84 68
DB DESTERUNI
=R 2 B
- - | S— . ] Diagram : DBSD Model
18 & 18 |
M8 x 1.0 - - f
o . 1 . .3’1 2 ﬂs 4 e S
oy | el W S W -
R LA A S =2 o LDt ©
i becflil o el 1 B [ [ \FAMWAS) 19 |
M8 x 1.0 —l‘ = =13 212
P=16
DIMENSIONS
" MODEL CODE | Numberof Pos | Connection Size A B G
DB4D 4 M8x1.0 48 36 16
DB5D 5 M8 x 1.0 64 52 32
DB6D 6 MBx1.0 80 68 48
DB7D 7 M8 % 1.0 9% 84 64
DB8D 8 M8 x 1.0 12 100 80
DBSD 9 M8 x 1.0 128 116 %
DB10D 10 M8 x 1.0 144 132 112
DB12D 12 M8 x 1.0 176 164 144
DB#K DESTER UNI
Diagram ; DBSK Model
_Rels |
_Re'ls
DIMENSIONS
MODEL CODE | Numberof Pors | Connection Size A B C
DB4K 4 Re s 52 40 20
DB5K 5 Ro Vs 72 60 40
DB6K 6 Ac /s 92 80 80 ]

(s)SHOWA




PIPES & TUBES Metal & Polymer Tubes

)

e Pipes and tubes for distribution channels
e Various materials and sizes available to meet installation requirements

Awide range of pipes and tubes for distributing lubricants are available.

3 types of metal pipes (Copper, Aluminum and Steel) and 3 polymer based pipes (SHOWA Nylon,
Hizex and Surlyn} in various sizes are available to meet various system and installation requirements.

INSTALLATION METHOD Cut the metal pipe / tube al a clean straight angle with a sharp
cutting instrument {special pipe / lube cutters are available).
e Turn Clockwise Pipes cut on an angle or deformed will not allow the PB sleeve

k3

Nipple

- -|E f——

_Sleeve - Bushing

lo hoid the pipe effectively, leading to possible leakages.
In order, place a PA lightening plug (Bushing) on the pipe, then

MODEL CODE
CUT 4
| Pipe Size |External Diameter}

3.2 @3.2 Piping 8 .28 Piping
4 ' @4Piping - 10 : =10 Piping
& 26 Fipin i+ 12 .12 Piping
Base Code / Material
CUT -Copper = SHOWA Nylon ; Nylon 12
ALP Ayminum | HIZEX - Hizex
MWT ; Metal  SURLYN : Surlyn

PD PB

¥ All pipe sizes listed above will not be available for cerlain
matenals.  Please refer lo "DIMENSIONS” located on the right .

SHOWA NYLON SPECIFICATION

~Pipe  aPBsleeve (" Group A” for reference).
PA
Allow the pipe lo exlrude 2mm from Ihe PBsleeve and attach
Pipe " Group A" to the mounting nipple (PD, KH, etc).
i / Tighten the connaction by hand until it can be tightened no
- !f‘ more, then with a spanner, tighien the conneclion a further 1
= or 1.5 rotations.  Please co not over- lighten.
Bushing For polymer based tubes , place an AL Inserl in the end of the
PA {ube, before attaching " Group A" o the nipple.

P8

DIMENSIONS (External & Internal Diameter)

FHS, FHC, FSC Flexible Hoses

Flexible Hose

MODEL CODE
FHC 4 01

Hose Length (L)
01 i 091900

05:
06
o7 i
08 : B00mm ‘-

Connector Size (zd)

4: =4 Piping

| B:@bPiping
| Base Code / Material & Ext. &
l FHS : Glass Fiber, @10

FHC : Vinylon Fiber, ¢ 10
FSC : Vinylon Fiber. ¢ 14

* FSC hoses are only available with a connecior size of /6.
* Other hose lengths, which are not listed above, are also
available. Please enquire for further details.

[ Pipe Size (Ext) oid Z6 [MATERIAL/SIZE] @32 4 “6 @8 @10 w12

Applicable MPa Copper z32x =18 @4 x =3 Zhxzdd @BxzB.2 Z10xz8 2125 @10
Under 2.5 Under 2.2 -

at23’c Aluminum X a4 x5 e 6x =4 @8y 6 210X =8 212X @10
Rupmring MPa - 8 Steel 232x18 4% 26 X486 ZBx =66 X 24
at20°C ) SHOWA Nylon X d X =25 Zhxzd X X X
Minimum Bend 12 2 Hizex X cdx@25 @Bxd @B x @6 E E
Radius (mm} Surlyn X 24X 25 “hxed @8x =6 E E

| Temp. Range -40°C ~ +80°C "E* - Please enquire for dimensions. “X* - Not availabte.

e Ideal for use in sliding and rotating environments where flexibility is required
e Possessing a protective spring, the hoses are durable and are also effective in
broad temperature ranges

e Variety of lengths available {o suit installation requirements

FHS, FHC & FSC

(arnelel
\ viose D
eeine ol

SPECIFICATIONS

SPECIFICATION f MODEL

FHS FHC FSC

Appearance

Outer Braiding

Glass Fiber Vinylon Fiber Vinylon Fiber

Color

Blue Black

Hose Structure

Inna} Rubber

NBR

Reinforcement Layer 1B

Vinylon Fiber

Reinforcement Layer 2B

Fiber Glass | Vinylon Fiber

Exterior Protection

Protective Spnng (Plated)

Standard Cperating Pressure (MPa)

3 25

Maximum Operation Pressure (MPa)

6 3

Hose Rupturing Pressure (MPa)

24+ | 12+

Temperaiure Range ('C)

-20 ~ +100

Surface - Inslantaneous Temperaiure ('C)

500 | 200

Dimensions

Hose Connector Size ( @d)

w4, 26 &6

Ext. Hose Diameter

=8 =105

External Diameter { D)

=10 @14

Length (L)

100mm ~ 2000mm {increments of 100mm)

($)SHOWA




=y - \'Q’/
Fittings - Mid To High Pressures ..o
PIPING COMPONENTS Compression Tyne Connectors

e High pressure connectors and fittings for lubrication channel infrastructures.
e Compression type connectors, enabling pipes and tubes to be held securely in place.

CONNECTOR STAINLESS STEEL CONNECTORS (SUS316)
[ MODEL CODE |eD| ¢ F Fi Hims | H2ws H3 | e
18050610 | 6 | R's 12 13 27 2 75 8MPa
18050613 | 6 | R 14 13 305 245 75 8MPa
CONNECTOR | 18050810 | 8 | R'e 13 14 275 235 7 8MPa
180508 13 8 Al 14 14 32 26 7 8MPa
18051013 | 10 | R' 17 19 365 305 9 gMPa |
H BRASS CONNECTORS (C36048D)
MODEL CODE | @D 5 F Fi Husmo H3 FRESSAE
01050610 | 6 Rjs i 13 18 75 15MPa
010506143 | 6 R 14 13 18 75 15MPa
01050810 | 8 R 13 14 195 7 10MPa
CONNECTOR = 050813 | 8 R 14 14 195 7 10MPa
01051010 | 10 Rils 17 19 24 9 7.5MPa
L 01051013 | 10 Ra 17 19 24 9 7.5MPa
ELBOW STAINLESS STEEL CONNECTORS (SUS316)
MODEL CODE |#D| C F H1 He J Lpane L1 PR
18090610 | 6 | R'M 13 18 14 8 255 | 135 | 8MPa
18090613 | 6 | R 13 23 17 10 255 | 135 | 6MPa
ELBOW 18090810 8 Ra 14 205 16.5 10 285 145 B8MPa
18090813 | 8 | R 14 23 17 10 285 | 145 | 8MPa
§ 18091013 | 1 R 19 2 19 12 325 16 8MPa |
BRASS CONNECTORS (C3604B0)
[ MODEL CODE [#D] © F Hl J Lpary K S
01090610 | 6 | R'® 13 18 8 22 1 15MPa
01090613 | 6 | R 13 215 10 22 12 15MPa
ELBOW | 01030810 | 8 | R 14 185 10 28 15 10MPa
01090813 | 8 | R'% 14 22 10 28 15 10MPa
01091013 | 10 | R 19 25 12 30 145 | 75MPa
UNION STAINLESS STEEL GONNEGTORS {SUS316)
' L MODEL CODE | 2D F Fl Lo L1 L
' ' 18060600 | 6 12 8 35 " 8MPa
UNION 18060800 | 8 13 10 385 10 8MPa
18061000 | 10 17 12 46 13 8MPa
BRASS CONNECTORS (C36048D)
MODEL CODE [ &D F F1 Lo L1 AR
01060600 | 6 11 13 32 11 15MPa
UNION 01060800 | 8 13 14 36 10 10MPa
0106 1000 | 10 17 19 42 13 75MPa
ELBOW UNION STAINLESS STEEL CONNECTORS (SUS316)
[ MODEL CODE | 2D F J [ L1 Ty
18020600 | 6 13 [} 255 135 aMPa
ff":’lg:‘ 18020800 | 8 14 10 285 14.5 8MPa
; 18021000 | 10 18 12 325 16 8MPa |
BRASS CONNECTORS (C360480)
~ MODEL CODE | D F J Lwan PRI
01020600 | 6 13 8 22 15MPa
fﬁgﬁ 01020800 | 8 14 10 28 10MPa
01021000 | 10 19 12 30 7.5MPa
T-TYPE UNION STAINLESS STEEL CONNECTORS (SUS316)
L2 MODEL CODE | 2D F J L2 L SRR
_ﬁ.‘l e | 10040600 | 6 13 8 255 135 8MPa
: s 18040800 | 8 14 10 285 145 8MPa
E_* = ?__] 1804 1000 | 10 19 i2 325 16 &MPa
) ]"“ BRASS CONNECTORS (C3804BD)
s ii MODEL CODE | =D E J L2 Hi e
CF i 01040600 | 6 13 8 22 11 15MPa
= T-TYPE
; b 01040800 | 8 14 10 28 15 10MPa
20 11 01041000 10 19 12 30 14.5 7.5MPa

($)SHOWA




Fittings - Mid To High Pressures N
GHAD2, GHO2 Hose & Reusable Connectors

e Hose and connectors for high pressure lubrication systems
e Reusable and simple to install connectors (No special tools required)
e Highly flexible reinforced polyurethane hose, broadens installation capabilities

The GHAO2 high pressure hose are specifically designed for Showa's grease lubrication systems.

»
» : : :
/ The Ire'—'sable connectors can be attached with an ordinary set of pliers and a spanner, negating the
requirement for special tools. Straight and elbow type connectors are available to suit installation
requirements of the lubrication system.

GHA02 HIGH PRESSURE HOSE

Quter Layer : Polyurethane
e ————— e laner Layer : Polyamide 12

Reinforcement : Polyester Braid

GHO2D STRAIGHT CONNECTOR

MODEL CODE + 23 1/4-28UNF-28
GHA02 ) AN - I I, ; *
| High Pressure Hose ‘:,,____,__ g {@ _F_" I___":“__i‘_ = F T
R P P
s
MODEL CODE
GHO2 D GHO2H ELBOW CONNECTOR
Connector Type
0 : Siraight Connector
H : Elbow Conneclor
B : Hose Sleeve
Base Code

GHAO02 HOSE SPECIFICATION

Utilization Pressure 21 MPa
Rupturing Pressure 78 MPa
External Diameter =79 GH02B HOSE SLEEVE
Internal Diameter 232

Minimum Bending R 12 : —

HOSE & CONNECTOR ASSEMBLY METHOD

1. CUTTING & MARKING THE HOSE

When cutting the GHAO2 hose, ensure a clean straight cut is achieved and is not cut at an angle.
Mark the hose with a white pen at a position of 13mm from the end of the hose. White dots at 13mm
intervals have been stamped on the GHAO2 hose to act as a guide. If the hose is cut in the center of
a dot, use the next dot in as the marker, eliminating the need to mark the hose.

2. ATTACHING THE HOSE SLEEVE

Ensure the hose is held firmly with a pair of pliers and proceed to apply a small amount of lubricant to
the hose end's exterior surface. While ensuring the hose stays straight and does not twist, attach
the hose sleeve by rotating it counter-clockwise and proceed until the end of the sleeve is over the
center of the marker dot.

3. ATTACHING THE END CONNECTOR (Straight or Elbow)

Apply a small amount of lubricant to the connector's screw end and inser it into the hose sleeve,
which has just been attached in the above step. While holding the hose sleeve in position, turn the
connector clockwise until the connector's HEX (nut] comes in contact with the hose sleeve.

20

$SHOWRA




Pump Unit Circuit Diagrams

LUBRI UNIT LCB3 Discharge Pori
Rc 1/4

lllustrated Circuit : LCB311C
- YT Timer

- Pressure Swilch

- Pressure Gauge

- Float Switch

LUBRIUNIT LCB3 TMS Discharge Porl  Pressure Switch

lllustraled Circuit : LCB30105C
- YUI Timer

- Pressure Switch

- Pressure Gauge

- Float Swilch

LUBRIUNIT LCB4

Discharge Port
Re 18
llustrated Gircuit : LCBAOTIC ‘ O+ _I
- Pressure Swilch b !
- Pressure Gauge le=sis d a5 o '
- Floal Switch \ - \
O =y e Sa— ’
RELT |
! A % ‘
[l 1 | !
LUBRI UNIT  LCBS5 T
Re 18
ustraed Cicuit :LOB520C ‘ A -‘
- Timer T i B ol '
- Pressure Switch ‘ V—=+ ‘ ‘
- Float Switch ‘ P :
| K |
>
J S (:}é@ R
.'_".} =
L ¢ |8
ACCUMULATOR PUMP  MYs
e 1
lllustrated Circuit : MYB012 u i I
Y11 Timer ; L ' '
- Float Switch 1 TYH 1
E Component i ‘ |
_t [Pump |
_2 | Motor
3 | Relief Valve '
4 | De-pressuring |
| Mechansm _ |
5 LAcwnw;amr
6 _ Floal Switch '
7 | Tank/ Reservoir ‘

PROGRESSIVE MANUAL GREASE PUMP  GPH

lllustrated Cirguit : GPHO14
- Dual Return Ports

PROGRESSIVE MOTORIZED GREASE PUMP  GPM

llustrated Circuit : GPM1013CL !
- Level Switen [
|
|

' 5

SINGLE-LINE MANUAL GREASE PUMP  GPHW

llustrated Circuit : GPHWO17 ’ o 8 1
- Pressure Displacement i

Level Swich
ﬁ
=¥
ustrated Circuit: GPMW307CL | l =]
- Level Switch
- Pressure Displacement =,

(5)SHOWA




SHOWA CORPORATION

¢ %
\ f X "i}
W iy

ii' il . .y
du ' SALES DEPARTMENT

OMIYA FACTORY
OMIYA WAREHOUSE
TOKYQ OFFICE
OSAKA OFFICE
NAGOYA OFFICE

I OVERSEAS CORPORATE BODY -

TAIWAN SHOWALTD.

B GLOBAL DISTRIBUTORS / AGENTS

JTITRADE INC.

DEVCO CORPORATION
HANJIN TONG SANG CO.,, LTD.
NAMSAE INTERNATIONAL
TRADING CO,, LTD.

ISOS ENGINEERING LTD.
SHOWA QY

YARON AMIR EQUIPMENT

& MACHINES LTD.

NEUBOR S.L.

BEARINGS & LINEAR SYSTEMS

PTY LTD.
CNC SERVICES LTD.

HEAD OFFICE

TOKYO,  JAPAN
TEL: (03) 5392 - 6211

TOKYO,  JAPAN
TEL: (03) 3967 - 3255

9-21, 2-CHOME AZUSAWA, ITABASHI - KU,
174-0051
FAX: (03) 5392 - 6220

9-21, 2-CHOME AZUSAWA, [TABASHI - KU,
174-0051
FAX: (03) 3967 - 0044

FUKUYAMA OFFICE YOKOHAMA OFFICE
NAGAOKA OFFICE UEDA OFFICE
KANAZAWA OFFICE TOYOTA OFFICE
NUMAZU OFFICE FUKUOKA OFFICE
HAMAMATSU OFFICE CHIBA OFFICE
NO.30-2, 37RD., TAICHUNG INDUSTRIAL AREA, Tel: 04-2359-9186
TAICHUNG, TAIWAN Fax: 04-2358-1774

9555 OWENSMOUTH AVE., UNIT #1,
CHATSWORTH, CA. 91311 US.A.

P.0. BOX176, WYCKOFF, NJ. 07841
US.A.

55 - 16, SHINWOL - DONG, CHANGWON - CITY,
KYUNGNAM, KOREA

32 - 34, SOI SRIHAMMATIRAD, CHAROENKRUNG RD.,
POMPRAB, BANGKOK, 10100 THAILAND

21 QUEENS ROAD, COVENTRY CV1 3EG,
ENGLAND

SAMMON VALTATIE 70 33560 TAMPERE,
FINLAND

HASADNA 5 KIRYAT ARIE P.0. BOX 3209
PETACH TIKVA 49130, ISRAEL

C/ PEREDA, 28 08330 SANT ADRIA DEL BESOS,
BARCELONA, SPAIN

UNIT 12, 355 - 365 SOUTH GIPPSLAND HIGHWAY,
DANDENONG SOUTH, VICTORIA 3175, AUSTRALIA

PO BOX 11-398, ELLERSLIE, AUCKLAND,
NEW ZEALAND

($)SHOWA

Tel
Fax :

Tel :
Fax :

Tel :
Fax

Tel ;
Fax:

Tel
Fax

Tel ;
Fax:

Tel :
Fax:

Tel ;
Fax

Tel
Fax

Tel

4]

Fax:

818-718-1058
818-718-1062

201-848-8444
201-848-8919

055-282-8328
055-282-8528

2-222-0072
2-224-8071

- 024-7622-3226
1 024-7622-8221

050 5169169
03 3562856

03-9244898
03-9222319

934-621-300
934-622-475

: (03) 97999140
- (03) 9799-9840

© (09) 521-6366
(09) 521-6367




SHOWA CORPORATION
Ver. 2008V01





